8, Dec, Naoyuki Kamo

Sunday, 8 December 13



1\

]

e CON F-NO-:I'E@%% & @cohsistenlq/@ﬁﬁ%&

o pTbinOXYIDHIF—HEICUTe (—ZEEZATEITH. F
(R U)

o pi-Ad(jet!,Z) binDYID FEHE U

o ctKEFBHHELICUZ (E-BD)

o bjetlEBEARGWVWDTHERICIEFHFETULRL

® CONF-NOTETldgaussianh poisson TfitL CWL\ B [ET 7R D
T, MAZEHELTWS

o fitEnp

+-

(& 1.4sigma TIT 2 HDZDETWVBH, EREIFEL

ZWVWAHLTWS (FNIFEFEL W)

Sunday, 8 December 13



gaussian fit

/p

0.95

0.9

0.85

20 30 40 50 100

(pol0)  p;

Sunday, 8 December 13



poisson fit

/p

0.95

0.9

0.85

i — Py thla, Thaliigive -
i -
: ..................................................... Data.,...i.nelusive .................................. :
e e .
[ A ]
B —A— _,Eﬂ D
e T -

20 30 40 50 100

(pol0)  p;

Sunday, 8 December 13



h

J

|

0.95

0.9

0.85

0.95

0.9

0.85

gaussian. fit

20 30 I 50 100 200
(pol0)  p*

poisson fit |

20 30 40 50 100 200
(polo) p'

+#-
1 FTTTL FTETY FYTTL FYTT O] PO,

a ]
1!

= =3

DATAMC

28 Ri

== ,=.=|='=':'=I_§_.I -
== i
oS &
20 a0 40 5060 100 0
p™ [GeV)

(a) Anti-k; R = 0.4 EM+JES

low pT CldgaussianH poissonH . HEDith D> X< LWHVR
WDT, FMEDEHILWDIE, HBEEL £ 5D

EER. >60GeVDgaussianld CONF-NOTEIT T WL\ 3 IC
Bo>TW2 (B<EUTHZIFTRDEN)

M. ETBETEmcEdataDBICENH D T =D, FFIC
30~50GeVdr =D

Z uiFasymmetric gaussianic UCH., fitfiHZZE X TH[E
UCLKDICENTETCLERD

Sunday, 8 December 13



back up

Sunday, 8 December 13



L+ jet

® el medium++ , mu_medium

e AR(jet,el_ medium++) < 0.1 DjetlFelectron& 9 5

® Trigger(zee): EF _el2Tvh loosel (multi-electon,

unprecaled)

® Trigger(zmumu): EF_mu24i_tight || EF_mu36_tight

® B-tag:MVI > 0.8l

9 (nominal efficiency/70%

)

Variable

Selection

description

€1, €2

ARj, =

pr/en

leading jet
VA2 + (Ap)?

JVF(jet2)

E? > 20 GeV

80 GeV < M,+,- < 116 GeV
In°1?| < 2.47 excluding 1.37 < |n°] < 1.52
P < 0.8, |JVF| > 0.25 if pr<50 GeV

> (0.35 anti-k; R = 0.4 jets
> (0.5 anti-k; R = 0.6 jets

< max (0.2 X p%, 10 GeV)
> (.25, if  [p/°?| < 2.4 and pr<50 GeV

electron pre-selection

jet pre-selection
isolation/topology

radiation/topology
JVF  restriction for
sub-leading jets
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HEF/=T)

gammat jet

® AR(jet,gamma) < 0.1 Djetldgammad& 95 (fo/2 Ugammald TERDSE

® Trigger:EF g20 loose || EF_g40 loose || EF_gb60 loose ||
EF ¢80 loose || EF_gl00 loose || EF_gl20 loose

® B-tag:MVI > 0.8119 (nominal efficiency70%)

® selectionlC D L\C & https:/twiki.cern.ch/twiki/bin/viewauth/
AtlasProtected/GammaljetCalib2012(CF¥F U< EWTH S

T
E?E cluster / ( Z p:[lfaCks)

leading jet
A¢jet-y

jet2
T

JVF(jet2)

Variable Selection description
leading y pr—>>85GeVand || <1.37 photon pre-selection
Evke < 3 GeV v isolation

€[0,2] (single-track conversions)

€[0.5,1.5] (double-track conversions)
' > 12 GeV and [7®!!] < 0.8

> 2.9 radians

<0.2x p%

>(.25, if |2 < 2.4

jets faking photons

jet pre-selection

radiation suppression

radiation suppression

JVF restriction for sub-leading jets

%pT_gamma > 85GeVIZEK UL TLV/RL)
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120 Gaussian Jovertiow 0
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100 width: (36.86+1.05)%
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C Gaussian Jovertiow 0
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= Zee+jet, inclusive, Pythia 3
40F + % 3
30F —Z
20F -
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% 1 23 5 5

jet
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Entries

1823

= T T T T T T 0

C Gaussian Joverfiow 0
120 % 2/ngor: 8.75 ]
C mean: (19.34x1.19)% 7
100 width: (34.060.92)% =}
C anti-K_R=0.4 EM+JES h
80 C Zee+jet, inclusive, Pythia =
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20 -
oLl 4sigma A ] ] .
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200 T T T T T T ™ 0 200 T T T T T T - 0 240E T T T T T T = 0
180 E Gaussian E Overflow 0 E Gaussian _E Overflow 0 220 E_ Gaussian _E Overflow 0
E % 2/ ngor: 1.45 E 200F % 2/ ngof: 1.80 E 200E- % 2/ ngor: 1.84 3
160 :_ mean: (8.33+1.04)% _: 180F mean: (6.73x1.10)% E mean: (4.73+1.06)% 3
E  width: (31.93=141)% 3 160E width: (35.16+1.51)% _J 180 width: (34.74=1.44)% o
140 anti-K_R=0.4 EM+JES E E anti-K_R=0.4 EM+JES E 160 anti-K_R=0.4 EM+JES 3
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-  width: (30.91:1.68)% 180 width: (32.241.33)% =3 E width: (34.89=1.16)% 4
8o a\ntl-KT R=0.4 EM+JES - 160 anti-KT R=0.4 EM+JES = 250 anti-KT R=0.4 EM+JES —:
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401 - 80F - E E
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20~ . 40F 3 50F E
- . . 20F 3 : ]
0 o 1.4si0ma hne.. s 1 1 1 ] 0 E D 1 1 1 3 okt 1.4sigm 1 1 1 1 3
0 1 P o 3 4 5 6 0 ie|2 o 3 4 5 6 7 0 1 ‘2 : 3 4 5 6 7
P 1p® (120,25] ., InI<0.8, 0.10<n-Ap<0.12) P Ip® ([20,25] ., Inl<0.8, 0.08<w-Ap<0.10) P Ip ([20,25] ., Inl<0.8, 0.05<r-Ap<0.08)
T M GeV T M Gev TP GeV
240: —rr L B B B B R L) r T —rr T T T undertow. 0
220F Gaussian —[Overfiow 0 120 . Gaussian Joverfiow 0
200 % 2/ ngef: 1.18 3 - % 2/ ngef: 1.12 :
E mean: (4.37+1.02)% 3 C mean: (5.97+1.44)% -
180~ width: (34.701.39)% 3 100~ width: (32.66=1.94)% ]
160 ;— anti-K_R=0.4 EM+JES —; 5 anti-K_R=0.4 EM+JES ]
140 :_ Zee+jet, inclusive, Pythia _; 80 -_ Zee+jet, inclusive, Pythia _-
120 - C ]
100 3 60 3
80F 3 - 1
60F- 3 “oF E
40F E 20F 3
20F . 3 - :
E.J 1.4sigma PPN EPUPEPE I B L. ) d.4sigm (PP BRI EPEPEPIPE B
1 1612 o 3 4 5 6 1 ? . 4 5 6 y,
p'T Ipy ([20,25] . l<0.8, 0.02<r-A¢<0.05) p'f /p’Te (120,25] , In|<0.8, 0.00<-A$<0.02)
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[Entries 2356 Entries 2497 Entries 2581
240E T T T T = 0 250 - T T T T . 0 250 T T T T T T ] 0
200 E % 2/ ngof: 1.31 K N % 2/ngof: 0.92 ] L % 2/ngof: 1.26 4
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180 width: (26.03+1.05)% 3 N width: (28.88+1.19)% r width: (29.68x1.25)% 7
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100F width: (28.76+1.62)% -] 200 width: (27.18+1.01)% -] E width: (27.2320.79)% 3
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o0 3 S0 E F 3
C ] C ] 50F -
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C Gaussian Jovertiow 0 o Gaussian =fQverfiow 0
250 x 2/nges: 0.86 3 140 x 2/nges: 2.05 —
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p'T Ip; ([35,45],, l<0.8, 0.17<-A¢<0.20)

[Entries 2010

e T T T T ertion. 0

220 E Gaussian E [Overflow [
200 % 2/ngor: 0.36 E
180 = mean: (-8.00:0.91)%
E width: (25.46+1.27)% 3
160 anti-K R=0.4 EM+JES E
140 =
120 :_ Zee+jet, inclusive, Pythia _:
100 -
80F -
60F- 3
40F =
20F -
0 E 1 1 1 1 3
0 1 ,e? o 3 4 5 6 7
p'T 17 (35,45, Ml<0.8, 0.10<n-A¢<0.12)

[Entries 4740

v T T T T T T TT"Underiow 0

500 B Gaussian =foverflow 0
C % 2/ngo: 2.10 h
400 '_ mean: (-8.27+0.61)% _1
- width: (27.12+0.82)%
C anti-K_R=0.4 EM+JES ]
300 - Zee+jet, inclusive, Pythia =
200 3
100 3
% 1 2 3 T3 57

jet  ref

Py /oy ([35,45],, Ini<0.8, 0.02<r-A¢<0.05)

Entries 3618

F T T T T T T 3 0

350 - Gaussian “Joverflow 0
o > ] ]
o x “/ngot: 3.04 3
300 — mean: (-7.97+0.68)% =
3 width: (27.76:0.82)% 3
250 anti-K.r R=0.4 EM+JES -]
200 :_ Zee+jet, inclusive, Pythia _:
150 -
100 -
50 3
0 E 1.4sig 1 1 1 1 3
o 1 283 4 5 8 7
[ /pT ([35'45]Gev’ Inl<0.8, 0.15<-A$<0.17)

Entries 4114

450 T T T T T underion. 0

: Gaussian : Overflow o
400 3 ﬂ % 2/ ngof: 0.88 3
350 :_ mean: (-8.03+0.68)% —:
= width: (26.38+0.96)% 3
300 anti-K R=0.4 EM+JES -
250 E— Zee+jet, inclusive, Pythia —E
200F- 3
150 - E
100 -
s0f- .
0 E 1 1 1 1 E
0 je‘2 w3 4 5 6 7
[ /pT ([35’45]Gev’ In1<0.8, 0.08<r-A¢$<0.10)

Entries 2420

- T T T T T underion. 0

250 Gaussian Joverfiow 0
r x 2/nges: 1.70 ]
» mean: (-9.61+0.74)% ]
200 width: (24.72+0.86)% =
C anti-K _R=0.4 EM+JES ]
150 C Zee+jet, inclusive, Pythia ]
100 -
50 -
% S R R S S

jet  ref

Pl /ol (135,45],, Inl<0.8, 0.00<7-A¢<0.02)

Entries 3919

F T T T T T E o

400 Gaussian =jOverflow 0
= 2 . 3
E % 2/ngor: 1.10 E
350 3 mean: (-7.72:0.74)% 3
= width: (27.30+1.09)% _J
300 = anti-K_R=0.4 EM+JES E
250 ;_ Zee+iet, inclusive, Pythia _;
200 -
150 -
100 r
50 -
0 E L L L L E
0 _e? o 3 4 5 6 7
p'T Ip ([35,45],,, nl<0.8, 0.12<r-A¢<0.15)

Entries 6645

200 T T et o

E Gaussian E Overflow 0
600 - x 2/nges: 1.10 =
E mean: (-7.09x0.50)% 3
g width: (26.76+0.66)% o
500 3 anti-K_R=0.4 EM+JES =
400 :— Zee+iet, inclusive, Pythia —:
300 3
200F =
100 =
F L L L L 3
% - S S S

2
pr /p’f’ (135,45] ,, 1<0.8, 0.05<1-A¢<0.08)
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[Entries 2979

F T T T T T ] 0

300 — Gaussian —fQyerflow 0
C x ?/Ngof: 0.35 ]
250 - mean: (-7.34x0.73)% _J
C width: (26.40+0.95)% 1]
- anti-K _R=0.4 EM+JES E
200 =]
C Zee+jet, inclusive, Pythia ]
150 -
100 3
50 =
0 3 1 1 1 1 E
0 ,e? ot 3 4 5 6 7
p'T Ip" ([45,60],,, l<0.8, 0.17<-A¢<0.20)

[Entries 1883

Fr T nderton. 0

220 ;— Gaussian —; overtiow )
200F x 2/nges: 2.25 3
= mean: (-6.67+0.89)% _J
180 E width: (24.75+1.24)% E
160 anti-K_R=0.4 EM+JES -
140 E_ Zee+jet, inclusive, Pythia _E
120 =
100 -
80F E
60 -
40F -
20F -
0 E 1 1 1 1 3
0 ,6‘2 ot 3 4 5 6 7
p'T 17 ([45,60],,, Ml<0.8, 0.10<x-A¢<0.12)

[Entries 4792

o L B B B B s

o Gaussian overflow 0
500 % 2Ingor: 1.39 -
o mean: (-5.18+0.56)% ]
- width: (23.69+0.81)% -
400 - anti-K.r R=0.4 EM+JES -
300 C Zee+jet, inclusive, Pythia ]
200 3
100 3
% R S R

jet  ref

Pl /o7 (145,60, Inl<0.8, 0.02<71-A¢<0.05)

Entries

350

300

250

200

150

100
50

T T T T T
Gaussian
x 2/nges: 0.88
mean: (-7.35+0.69)%

width: (26.350.88)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Pythia

2. 3 4 5 6 7
p'T 17 ([45.,60],,, Ml<0.8, 0.15<1-A¢<0.17)

overflow

3305

0

0

450
400
350
300
250
200
150
100

T T T T T T T T TTTT
Gaussian
x 2/nges: 1.90
mean: (-7.04+0.62)%

width: (24.96+0.88)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

.e? o 3 4 5 6
p'T Ip; ([45,60],, I<0.8, 0.08<r-A¢<0.10)

Entries

Underflow

Overflow

3895

0

0

Entries

250

200

150

100

50

<

L B e
Gaussian

inderflow

Overflow

2449

0

[

% 2Ingo: 117

mean: (-5.58+0.79)%

width: (23.65+1.13)%
amti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

2 3 4 5 5
jet  ref

Pl /ol (145,60, Inl<0.8, 0.00<7-A¢<0.02)

400
350
300
250
200
150
100

Entries

T T T T T
Gaussian
x 2/ngos: 2.99
mean: (-6.92+0.68)%

width: (25.550.96)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Pythia

.e? o 3 4 5 6
p'T Ip; ([45,60],,, MI<0.8, 0.12<1-A¢<0.15

=~

Overflow

3615

0

0

T T T T T T T T TTT
Gaussian
x 2/nges: 0.63
mean: (-5.76+0.49)%

width: (23.83+0.71)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

2 .. 3 4 5 6
Py P} (145,60],, mI<0.8, 0.05<t-A¢<0.08)

Entries

Underflow

Overflow

6599

0

0
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[Entries 1953

F T T T T T T = °

220 :— Gaussian —: Overflow 0
200F x 2/nges: 0.20 =
180 :_ mean: (-5.80+0.87)% _:
3 width: (23.59:1.27)% 3
160 anti-K_R=0.4 EM+JES -
140 ;_ Zee+jet, inclusive, Pythia _;
120 -
100 ;— —;
E L L L L E
.e? o 3 4 5 6 7
py /o] (160,80],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 1367

SR I I I I s paas R

160 |~ H Gaussian =fQuerfiow 0
- 2 . -
o % 2/ngor: 0.50 ]
140 3 mean: (-5.92+0.97)% 4
s width: (22.70+1.33)% 4
120 3 anti-K _R=0.4 EM+JES =
100 - Zee+et, inclusive, Pythia =
80 -
60 -
4o 3
20F -
0 F L L L L 3
0 1 ,e? o 3 4 5 6 7
py P} (160,80],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 3906

T T T T T uerion. 0

= GaUSSian =HOverflow o
500 % 2/ ngof: 1.40 E
- mean: (-4.16+0.51)% =
400F width: (21.35:0.67)%  —f
o anti-K_R=0.4 EM+JES ]
300 :_ Zee+jet, inclusive, Pythia _:
200 .
100 -
% 1 23 5 R

jet  ref

P; /pT ([60,80]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 2292

= T T T T T T o

s Gaussian Jovertiow 0
250 % 2/ ngof: 0.81 -
C mean: (-6.98+0.82)%
o width: (23.86+1.23)%
200 anti-K_R=0.4 EM+JES =]
E Zee+jet, inclusive, Pythia E
150~ -
100 3
50F ‘[|: -
oL 1.4si a 1 1 1 1 7
o 1 23 4 5 6 7
[ /pT ([SO,SO]GeV, Inl<0.8, 0.15<-A$<0.17)

Entries 2915

o LM L I UL I I TR

350 Gaussian =jCverfow 0
3 x 2/nges: 0.53 3
300 mean: (-6.11:0.64)% =]
3 width: (22.24:0.86)% 3
250 :_ antl-KT R=0.4 EM+JES —:
200 :_ Zee+jet, inclusive, Pythia _:
150 -
100 -
50 =
0 E 1 1 1 1 3
0 je|2 ref 3 4 5 6 /
[ /pT ([SO,BO]GeV, In1<0.8, 0.08<r-A¢$<0.10)

Entries 1990

- T T T T T underion. 0

250 Gaussian Joverfiow 0
r x 2/nges: 1.00 ]
» mean: (-4.22=0.76)% 7
200 width: (22.1821.02)% =}
C anti-K _R=0.4 EM+JES ]
150 C Zee+jet, inclusive, Pythia ]
100 -
50 -
% T 2T

jet  ref

[ /pT ([SO,SO]GBV, Inl<0.8, 0.00<r-A$<0.02)

Entries 2614
F T T T T T T 0
300 Gaussian =—JQyertiow 0
o % 2/ngor: 0.33 ]
250 ol mean: (-6.61£0.75)%  _7]
o width: (23.61x1.09)% 1
- anti-K_R=0.4 EM+JES E
200 -]
- Zee+jet, inclusive, Pythia -
150 :— —:
100 -
50 =
0 3 1 1 1 1 E
o 1 2 "3 4 5 6 7
py o} (160,80],,, mI<0.8, 0.12<n-A¢<0.15)
Entries 5175
700 T T LI B I e PP
o Gaussian Joertiow 0
600 :_ x 2/nges: 0.86 _:
- mean: (-5.00:0.42)%
il width: (20.84+0.54)% _J
500 3 anti-K R=0.4 EM+JES E
400 :— Zee+iet, inclusive, Pythia —:
300 -
200 =
100F- =
0 F 1 1.4si a 1 1 1 1 E
0o 1.2 "3 4 5 6 7
py b} (160,80],, mI<0.8, 0.05<t-A¢<0.08)
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[Entries 285

- T T T T T T e 0

40 :_ Gaussian _: Overflow 0
35 = % 2/ ngof: 2.77 =
E mean: (-7.85x2.04)% 3
30F width: (19.37:2.43)% =
E anti-K_R=0.4 EM+JES E
25 :_ Zee+jet, inclusive, Pythia _:
20F 3
15F =
10F 3
5F =
0 o 1.4s 1 1 1 1 3
o 1 2 3 4 5 6 7
py /o] (180,85],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 212

30__................ .|....|....|...-,,de,ﬂ°w 0

o Gaussian 2o
o5 - ZZ/HdOf:1.73 =
- mean: (-0.05=2.55)% 7
- width: (22.46+3.31)% -
20 . a\nti-KT R=0.4 EM+JES -
E Zee+jet, inclusive, Pythia E
15 =]
10F -
5F .
0 F ot 4sidma 1 1 1 1 g
0o 1 23 4 5 6 7
py /oy (180,85],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 666

r T T T LI L R

100 L Gaussian [Overflow o
B % 2/ngor: 1.18 b
[ mean: (-3.29:1.11)%
80 width: (18.89+1.48)% =
" anti-K_R=0.4 EM+JES ]
60 -_ Zee+jet, inclusive, Pythia _-
40} -
20— -1
% - R R S S

jet

ref

P; /pT ([80,85]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries

overflow

347

0

0

F T T T T T T E
45 E Gaussian =3
40F % 2/ngor: 0.54 3
= mean: (-5.01+2.56)% E
35F width: (23.27+3.65)% =3
30 E amti-KT R=0.4 EM+JES E
o5 E Zee+jet, inclusive, Pythia §
20F 3
15F 3
10F -
SE E
0 E 1.4si 1 1 1 1 E
o 1 2.3 4 5 6 7
P; /pT ([80'85]Gev’ Inl<0.8, 0.15<-A$<0.17)

F S T S LI L L
60 Gaussian =]
- % 2/ngor: 1.13 ]
50 mean: (-3.42+1.68)% ]
o width: (22.36+2.31)% 7

o anti-KT R=0.4 EM+JES 7]
40F 3
E Zee+jet, inclusive, Pythia E
30F -
20F -
10 -
0 F 1.4sidma 1 1 1 1 E
1 =

50

40

30

20

10

2

jet

ref

3

3

4 5 6

2
pr /oy (180.,85],,, l<0.8, 0.08<1-Ap<0.10)

Gaussian
x 2/nges: 1.07
mean: (-1.31£1.79)%
width: (20.42+2.61)%
amti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

4 5 6

Entries

Underflow

Overflow

483

0

0

Entries

Underflow

Overflow

337

0

[

[ /pT ([80,85]Gev, Inl<0.8, 0.00<r-A$<0.02)

Entries

Overflow

398

0

0

C T T T T T T 7]
C Gaussian .
Y % 2Ingo: 0.86 -]
o mean: (-4.73+1.58)% 7
- width: (20.762.10)% _7
40 - anti-K.r R=0.4 EM+JES -
30 C Zee+jet, inclusive, Pythia ]
20F 3
10 ;" E
0 C 1.4si a 1 1 1 1 ]
o 1 23 4 5 8 7
[ /pT ([80'85]Gev’ Inl<0.8, 0.12<r-A$<0.15)
120F ) B B B B B B
N n Gaussian h

2 .
[ % 2/ngof: 0.38 i
100 mean: (-4.25:1.12)%
B width: (20.18+1.53)% -1
sof- anti-K _R=0.4 EM+JES =
: Zee+jet, inclusive, Pythia :
60 -
40 -
20 -
0 [ 1 4Si_ a 1 1 1 1 ]
0 1 3 4 5 6 7

2
pr /oy (180.,85],,,, II<0.8, 0.05<1-A<0.08)

Entries

Underflow

Overflow

880

0

0
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[Entries 830

120F T T T T T T 0

C Gaussian Joveriiow 0
- 2 . -
[ % 2/ ngor: 1.43 ]
100 N mean: (-5.34£1.22)%
C width: (22.66=1.76)% ]
80 ~ anti-K _R=0.4 EM+JES -
C Zee+jet, inclusive, Pythia ]
60 =
a0 -
20 .
0 o 1 1 1 1 N
0 1 ot 2ref 3 4 5 6 7
p‘T Iy ([85,110], n1<0.8, 0.17<n-A¢<0.20)

[Entries 722

100 L I B e nderfiow 0

: Gaussian : Overfiow 0
L x 2/nges: 0.57 4
80— mean: (-4.32+1.63)% =1
[ width: (23.62:2.65)% |
[ anti-K _R=0.4 EM+JES ]
60— o ) . 1
L Zee+jet, inclusive, Pythia -
40 -
20— =
0 [ L L L L ]
0 1 ot 2ref 3 4 5 6 7
p‘T I ([85,110]_, In1<0.8, 0.10<-A¢<0.12)

[Entries 2241

400__. T T T T T T T T T T T T T T T T T T T T T Iunertion 0

E Gaussian : [Overflow o
350 % 2/ngor: 1.64 -
E mean: (-2.44:0.54)% 3
300 width: (15.37x0.78)% =
F anti-K_ R=0.4 EM+JES 3
250 T =
C Zee+jet, inclusive, Pythia 3
200F —Z
150 —Z
100 =
50F —Z
% 1 23 5 5

Py Py (185,110],,, Ini<08, 0.02<-4<0.05)

Entries 1049

- 1 1 T T T T ™ 0

160 C Gaussian Jovertiow 0
140 % 21ngor: 2.49 -
- mean: (-5.50+1.11)% E
120 width: (20.36+1.58)% =
- anti-K.r R=0.4 EM+JES E
100 :_ Zee+jet, inclusive, Pythia _:
80f -
60 -
40 -
20 -
O : L L L L :
o 1 2 3 4 5 6 7
pJT /pT ([85,110]69\/, Inl<0.8, 0.15<-A$<0.17)

Entries 1587

240 [ T T T T T T T et 0

220 = Gaussian _Operflow 0
E > ) 3]
= X /ngos: 1.08 E
200 E_ mean: (-2.82+0.80)% _E
180F width: (20.17+1.16)% =3
160E anti-K _R=0.4 EM+JES =
140 ;— Zee+jet, inclusive, Pythia _;
120F -
100 =
E L L L L E
ot 2ref 3 4 5 6 7
pJT /pT ([85’110]Gev’ In1<0.8, 0.08<r-A¢$<0.10)

Entries 1137

%4 L L B I B B e T

180 :_ Gazussian : Overflow 0
- X “/ngos: 1.24 ]
160 3 mean: (-3.37£0.77)% 7
140F width: (15.201.03)% _3
E anti-K.r R=0.4 EM+JES E
120 :_ Zee+jet, inclusive, Pythia _:
100 -
80F 3
60 -
40F 3
20F =
% 1 L

p’:‘ /p’Tef (185,110]_,, mI<0.8, 0.00<-A¢<0.02)

180F T T T T T T = °
E Gaussian E Overflow 0
160 % 2/ngof: 0.58 -]
= mean: (-5.30+1.04)% 3
140¢ width: (21.36x1.49)% 3
120F amti-KT R=0.4 EM+JES 2
100 :_ Zee+jet, inclusive, Pythia _:
80F -
60 -
40F =
20F -
0 E 1 1 1 1 3
o 1 2 3 4 5 6 7
pJT /pT ([85’110]Gev’ In1<0.8, 0.12<n-A¢<0.15)
E e B L s e s T
450 E_ Gaussian _E overfiow 0
E x 2/nges: 2.60 3
400 E_ mean: (-2.34+0.56)% _E
= width: (17.92+0.80)% 3
350 E anti-KT R=0.4 EM+JES E
300 -
E Zee+jet, inclusive, Pythia E
250 3
200F- 4
150 F- 3
100 4
50F- ll E
0 E 4si a 1 1 1 1 E
0 1 2 3 4 5 6 7

Pl /p’Tef (185,110]_,, m1<0.8, 0.05<7-A¢<0.08)
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[Entries 594

= ! 1 T T T T E 0

9Q0F Gaussian —Jovertiow 0
= 2 . 3
3 % 2/ngof: 1.65 3
80 E mean: (-4.76+1.00)% E
70 width: (17.071.09)% =3
= anti-K.r R=0.4 EM+JES 3
60 -
E Zee+jet, inclusive, Pythia E
50 — =
40 3
30F- 5
20F 3
10F- 3
0 E a 1 1 1 1 3
o 1 2 3 4 5 6 7
pJT /pT ([110,160139\/, In1<0.8, 0.17<r-A¢$<0.20)

[Entries 512

9QOF T T T T T T T T T T T T T T T T T T T Tunderfiow 0

E Gaussian E lOverflow 0
80F % 2Ingor: 1.87 =
70 = mean: (-6.59=1.11)% 3
E width: (16.25+1.38)%
60 anti-K _R=0.4 EM+JES 3
50 E_ Zee+jet, inclusive, Pythia _E
40F 3
30f- 3
20F 3
10 -
0 E a 1 1 1 1 E
o 1 2 3 4 5 6 1
pJT /pT ([110’160]Gev’ In1<0.8, 0.10<n-A¢$<0.12)

[Entries 1816

350F T T M B e e e T )

E Gaussian Jovertiow 0
300 % 2/ngof: 0.40 =
= mean: (-2.930.48)%
E width: (13.74x0.62)% 3
250 F amti-KT R=0.4 EM+JES ]
200 :— Zee+jet, inclusive, Pythia —:
150 -
100 =
50F =
:. .1.4G!hm2....|....|....|....|....:
T 23 4 5 6 7
p’f /p’Te (110,160}, , In|<0.8, 0.02<r-A¢<0.05)

Entries 703

120F T T T T T T =] 0

C Gaussian TJovertiow 0

2 .

- % 2/ngor: 0.42 E
100~ mean: (-3.74=1.10)%
- width: (17.7821.52)% 7]
80 anti-K.r R=0.4 EM+JES -
N Zee+iet, inclusive, Pythia ]
60 -
40F -
20 -
0 [ a 1 1 1 1 ]
o 1 2 3 4 5 6 7
pJT /pT ([110,160139\/, Inl<0.8, 0.15<-A$<0.17)

Entries 1106

S B T T T undertion. 0

180 o Gaussian JQertiow 0
160 x 2/nges: 0.65 -
C mean: (-4.90+0.75)% I
140 3 width: (16.67+1.03)% 4
120 :_ antl-KT R=0.4 EM+JES _:
100 :_ Zee+jet, inclusive, Pythia _:
80f l =
60 -
4o 3
20k -
0 E ma 1 1 1 1 3
o 1 2 3 4 5 6 1
pJT /pT ([110’160]Gev’ In1<0.8, 0.08<r-A¢$<0.10)

Entries 997

F T T LI I R e [T

180 Gaussian =fQverflow 0
160 3 x 2/nges: 0.46 E
= mean: (-2.18+0.68)% I
140 width: (14.24x0.90)% =
120 E anti-K _R=0.4 EM+JES E
100 E Zee+iet, inclusive, Pythia E
80F 3
60 -
40F 3
20F 3
E, _1_Ae]'hm::|____.____.____.____.____:
T 23 4 5 5 7
p’f /p’Te (110,160}, , nl<0.8, 0.00<r-A¢<0.02)

Entries

140
120
100

80

60

40

T T T
Gaussian
x 2/nges: 1.03
mean: (-5.18+0.93)%

width: (17.58x1.31)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Pythia

0 1

p’f‘ /p'f' ([110,160], , mI<0.8, 0.12<1-A¢<0.15

3

4 5 6

=~

Overflow

882

0

0

400 prrrrprr—r—rr——r

350
300
250
200
150
100

50

Gaussian

% 2/ ngor: 1.04

mean: (-3.19+0.47)%

width: (14.26+0.64)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

(=)
—

F

3

4 5 6

p’f‘ /p'f' (110,160}, , Inl<0.8, 0.05<7-A¢<0.08)

Entries

Underflow

Overflow

2157

0

0
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[Entries 138

F T T T T T T 0

o5 Gaussian Tovertow o
C % 2/nger: 0.65 h
o mean: (-5.861.49)% ]
20 width: (10.95:1.72)% =]
- anti-K.r R=0.4 EM+JES -
15 - Zee+jet, inclusive, Pythia .
10F -
5 -
0 C 4siima 1 1 1 1 N
0o 1 2 3 4 5 8 7
[ /pT ([160’210]Gev’ In1<0.8, 0.17<r-A¢$<0.20)

[Entries 122

JUnderflow o

[Overflow [

120

100

80

60

40

20
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120 E anti-K_R=0.4 EM+JES e
100 E Zee+jet, inclusive, Data E
80F —Z
60F 3
40F 3
20F 3
0 F 1.4sigma 1 1 1 1 3
0 1 ,e? o 3 4 5 6 7
p'T Ipy (16,20, l<0.8, 0.17<-A¢<0.20)

[Entries 1363

r T T T T underton. 0

B Gaussian overfiow 0
100 N % 2/ ngof: 4.40 -
N mean: (12.79+1.37)%
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50F —Z
0 F 1.4siq 1 1 1 1 3
0 1 ,6‘2 of 3 4 5 6 7
py /oy (130,35],, mI<0.8, 0.08<n-A¢<0.10)

Entries 1961

220 = T T T T T T derion. 0

200 E_ Gaussian Jovertow o
= 5 } =
3 % 2/ngof: 0.47 E
180 3 mean: (-6.86x0.81)% 3
160 width: (24.53+1.01)%
140 E anti-K _R=0.4 EM+JES E
120 :_ Zee+jet, inclusive, Data _:
100 -
80F -
60F- E
40F =
20 =
% 1 2 3 5 5

jet  ref

[ /pT ([30,35]Gev, Inl<0.8, 0.00<r-A$<0.02)

Entries

Overflow

3338

0

0

350 T T T T T T —
E Gaussian E
300 % 2Ingor: 2.51 3
o mean: (-7.99+0.68)%
= width: (25.81:0.90)%  _7
250 3 anti-K _R=0.4 EM+JES E
200 :— Zee+et, inclusive, Data —:
150 :— —:
100 -
50 -
0 F 1 1 1 1 3
0 1 _e12 ot 3 4 5 6 7
py o} (130,35],, mI<0.8, 0.12<n-A<0.15)

600_. T T T T T T T T T T
- Gaussian 7

2 .

L % 2ngor: 5.42 3
500 o mean: (-7.32£0.53)%
- width: (25.61+0.69)% -
400F anti-K _R=0.4 EM+JES -
E Zee+jet, inclusive, Data E
300~ -
200 =
100 -
0: 1.4sig 1 L 1 1 g
0 1 ,6‘2 ot 3 4 5 6 7
py b} (130,35],, mI<0.8, 0.05<n-A¢<0.08)

Entries

Underflow

Overflow

5402

0

0
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[Entries 4494

=) T T T T T T = o

450 E_ Gaussian _E overfiow 0
400 x 2/ngof: 2.97 =
E mean: (-9.43:0.66)%  J
350 E width: (29.180.88)% 3
300 ;_ anti-K_R=0.4 EM+JES _;
3 Zee-+jet, inclusive, Dat E
250 :_ ee+|et, Inclusive, ata _:
200 ;— —;
150 F- 3
100 ;— —;
50F- ;
0 E 1.4sig 1 1 1 1 3
0 1 ,e? o 3 4 5 6 7
p'T Ip; ([35,45],, l<0.8, 0.17<-A¢<0.20)

[Entries 2695

_. et o

C Gaussian Jovertiow 0
250 % 2/ ngof: 1.54 -]
C mean: (-8.54+0.78)% ]
- width: (27.60=1.00)% _7
200 anti-K_R=0.4 EM+JES E
C Zeesjet, inclusive, Dat ]
150 -_ ee+|et, Inclusive, ata _-
100 -
50 3
o) C 1 1 1 1 .
0 ,e? o 3 4 5 6 7
p'T 17 (35,45, Ml<0.8, 0.10<n-A¢<0.12)

[Entries 6342

700 prr—rr T —enton. 0

E Gaussian E Overflow 0
600 % 2/ngor: 0.95 —
C mean: (-8.54+0.55)% ]
500F width: (27.5120.75)% ]
o anti-K_R=0.4 EM+JES ]
400 :_ Zee+jet, inclusive, Data —:
300F -
200 -
100F -
% 1 2 3 5 5

jet  ref

P /pT ([35'45]Gev’ Inl<0.8, 0.02<x-A¢$<0.05)

Entries 4830

= T T T T = 0

450 ;— Gaussian —; Overflow 0
E 2 . E
= % 2/ngor: 2.46 3
400 E mean: (-9.38+0.62)%  J
350 width: (28.7720.79)% =3
300 E anti-K _R=0.4 EM+JES E
250 E Zee+jet, inclusive, Data §
200 -
150 ;— —;
100 =
50 -
0 E L 1 1 1 E
0 ,612 ot 3 4 5 6 7
p'T I (35,45, l<0.8, 0.15<n-A¢<0.17)

Entries 5647

— D B o e (TR

600 :_ Gaussian _: Ouerflow 0
o X 2/ndof: 2.45 7
500 mean: (-8.24x0.52)% =7
- width: (26.99+0.63)% 7]
400 - anti-KT R=0.4 EM+JES -
E Zee+jet, inclusive, Data E
300 -
200 =
100 -
0 : L L L L :
0 ,6‘2 ot 3 4 5 6 7
p'T Ip ([35,45],, l<0.8, 0.08<r-A¢<0.10)

Entries 3220

350 B e e e e T )

E Gaussian Jovertiow o
300 x 2/nge: 0.64 =
= mean: (-9.73+0.72)%
E width: (25.21=1.01)% 3
250 F amti-KT R=0.4 EM+JES ]
200 :— Zee+jet, inclusive, Data —:
150 :— —:
100 -
50F =
% N S S

jet  ref

[ /pT ([35'45]Gev’ Inl<0.8, 0.00<x-A¢$<0.02)

Entries 5198
N T T T T . o
500 Gaussian ==JOverflow 0
- x 2/nges:1.16 4
C mean: (-8.57+0.57)% ]
400 - width: (27.95+0.71)% ]
L anti-K R=0.4 EM+JES -
300 C_ Zee+jet, inclusive, Data 3
200 3
100 3
0 C 1 1 1 1 .
0 .e? of 3 4 5 6 7
p'T Ip ([35,45],,, nl<0.8, 0.12<r-A¢<0.15)
Entries 9110
1000 L LI B L BB i LR a B N Underfiow 0
: Gaussian : Overtlow 0
L % 2/ngof: 3.78 ]
800~ mean: (-7.86+0.41)% =
B width: (27.0520.49)% ]
[ anti-K _R=0.4 EM+JES ]
600 ._ Zee+jet, inclusive, Data __
400} -
200 —
0 [ 1.4sig 1 1 1 1 ]
0 2 3 4 5 6 7

jet ref

pl /ol (135,45],, Inl<0.8, 0.05<71-A¢<0.08)
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[Entries 4086

- T T T T T T = 0

400 :— Gaussian —: Overflow 0
= 5 ] 3
3 % 2/ ngof: 1.33 3
350 3 mean: (-9.310.69)%
= width: (26.45+1.00)% _3
300 - amti-KT R=0.4 EM+JES ]
250 ;_ Zee+jet, inclusive, Data _;
200 -
150 =
100 =
50 =
0 E 1.4sig A1 1 1 1 E
0 1 ,e? of 3 4 5 6 7
p'T Ip" ([45,60],,, l<0.8, 0.17<-A¢<0.20)

[Entries 2624

300 — — T T T S eton 0

o Gaussian G 0
ss50F- % 2/ngof: 0.77 =
- mean: (-7.72=0.87)% 7
- width: (26.78+1.28)%
200F anti-K _R=0.4 EM+JES -
E Zee+jet, inclusive, Data E
150~ -
100 =
50 -
0 : L L L L :
0 ,e? o 3 4 5 6 7
p'T 17 ([45,60],,, Ml<0.8, 0.10<x-A¢<0.12)

[Entries 6881

800_—‘""' ™T T T T T T T T T T underton 0

E Gaussian : Overtlow 0
700 x 2/ ngor: 2.04 -
E mean: (-7.03:0.43)% 3
600 width: (23.72+0.55)% =
3 anti-K_R=0.4 EM+JES 3
500 3
- Zee+jet, inclusive, Data =
400 —Z
300 =
200F =
100 —Z
% 1 2 3 T3 5

jet  ref

Pl /o7 (145,60, Inl<0.8, 0.02<71-A¢<0.05)

E T T T T T T E 0
450 :_ Gaussian —: overflow 0
= 2 . =
3 % 2/ngof: 0.98 E
400 E mean: (-9.13+0.66)%  J
350 width: (26.600.96)% =
E anti-K _R=0.4 EM+JES 3
300F 3
250 E Zee+jet, inclusive, Data E
200 1 =
150 3
100 =
50 :_)ll -
0 E 1.4sig L 1 1 1 3
o 1 23 4 5 6 7
p'T 17 ([45.,60],,, Ml<0.8, 0.15<1-A¢<0.17)
- —r T —r T T T T T underton 0
600 - Gaussian —Joverflow 0
o % 2/ nger: 1.31 ]
ol mean: (-7.70+0.53)% 1
500 - width: (25.14+0.75)% 7]
- anti-KT R=0.4 EM+JES E
400 - -3
L Zee+jet, inclusive, Data -
300 3
200 3
100 - -
0 3 1 1 1 1 E
0 2 3 4 5 6 1
p'T Ip; ([45,60],, I<0.8, 0.08<r-A¢<0.10)
ErrTT T T T T underton. 0
400 :_ n Gaussian “Joverflow 0
E 2 . =
E % 2/ngof: 0.68 E
350 E mean: (-6.79+0.65)% E
300 width: (23.36:0.90)% _J
3 anti-K _R=0.4 EM+JES E
250 :_ Zee+jet, inclusive, Data _:
200 3
150 -
100 3
50 3
% T 23 e

jet

ref

Pl /ol (145,60, Inl<0.8, 0.00<7-A¢<0.02)

Entries 4986

n T T T T - 0

C Gaussian Jovertiow 0
500 % 2ngos: 115 -
- mean: (-8.68+0.61)% 7
- width: (26.280.88)%
400 anti-K _R=0.4 EM+JES E
C Zee+jet, inclusive, Data ]
300 =]
200 3
100 3
0 C 1 1 1 1 7]
0 2.8 4 5 68 7
[ /pT ([45'60]Gev’ Inl<0.8, 0.12<r-A$<0.15)

Entries 9489

T — T T Yundertiow 0

1000 |~ Gaussian —fQverflow 0
" % 2/ngot: 1.15 ]
- mean: (-7.62+0.39)%
800 width: (24.44+0.52)% =
: anti-KT R=0.4 EM+JES :
600 -_ Zee+jet, inclusive, Data _-
400 -
200~ -
[ 1 1 1 1 i
% N R S S

2
pr /p’f’ (145,60] _,, In}<0.8, 0.05<1-A¢<0.08)

Sunday,

8 December 13
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[Entries 2803

F T T T T T 3 °

o Gaussian Jovertow 0
300 x 2/nges: 0.55 =3
E mean: (-6.35+0.70)% E
250 width: (22.87+0.96)% =]
- anti-K _R=0.4 EM+JES E
200 :_ Zee+jet, inclusive, Data _:
150 - -
100 -
50 3
0 : 1 1 1 1 :
0 £ oy 3 4 5 6 7
py /o] (160,80],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 2110

- T T T T o o

250 — Gaussian -] Overflow 0
L x 2/nges: 1.38 ]
C mean: (-6.18=0.74)% 4
200~ width: (22.04x1.05)% =]
L anti-K _R=0.4 EM+JES h
150 - Zee+jet, inclusive, Data -
100 v
50 -
0 C 1 1 1 1 7
0 2 .. 3 4 5 6 7
py P} (160,80],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 5641

% e B A S S A

: Gaussian Jovertiow 0
700 3 % 2Ingor: 1.33 E
= mean: (-3.93+0.43)%
600 width: (20.050.60)% o
500 E_ anti-K _R=0.4 EM+JES _E
E Zee+et, inclusive, Data E
400 3
300 =
200F =
100 3
% 23 T3 5

jet  ref

P; /pT ([60,80]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 3176

- T T T T T T = o

400 E_ Gaussian _E Overflow 0
= % 2/ngof: 1.73 3
350 F mean: (-6.070.54)% =3
E width: (20.57+0.71)% 3
300 anti-K_R=0.4 EM+JES =
250 E— Zee+iet, inclusive, Data —E
200 -
150 -
100 =
50 =
0 E 4si 1 1 1 1 3
0 1 ,e? o 3 4 5 6 7
py o} (160,80],, mI<0.8, 0.15<n-A¢<0.17)

Entries 4330

T T T T T T T T T T T unertion. 0

C Gaussian Tovertiow 0
500 % 2/ngof: 2.35 =
o mean: (-5.48+0.47)%
- width: (20.82:0.62)% ]
400 anti-K _R=0.4 EM+JES E
300 :_ Zee+jet, inclusive, Data _:
200 - -
100 -
0 C 1 1 1 1 .
0 ,e? o 3 4 5 6 7
py /oy (160,80],, mI<0.8, 0.08<n-A¢<0.10)

Entries 2929

400 pr-r—rrTrrrrrrrrr v ieton 0

E Gaussian Fovertiow 0
350 % 2/ ngor: 2.05 E
= mean: (-4.08+0.62)% I
300 3 width: (20.45:0.90)% 3
250 : anti-K _R=0.4 EM+JES 3
E Zee+jet, inclusive, Data E
200F =
150 —Z
100F -
50 -
% 1 2 3 5 5

jet  ref

[ /pT ([SO,SO]GBV, Inl<0.8, 0.00<r-A$<0.02)

Entries 3783
500F T T T T 0
C Gaussian Joveriow 0
N x 2/nges: 2.33 ]
400 mean: (-5.92+0.52)% =
C width: (21.18x0.72)%
- anti-K.r R=0.4 EM+JES -
300 - Zee+iet, inclusive, Data .
200~ -
100~ -
0 [ 1 1 1 1 N
0 2 3 4 5 6 7
py o} (160,80],,, mI<0.8, 0.12<n-A¢<0.15)
Entries 7483
1000 —r L B I B e e T )
- Gaussian fOverflow 0
B % 2/ngor: 1.94 b
800} mean: (-4.19+0.36)%
- width: (21.02+0.47)% -
o anti-KT R=0.4 EM+JES -1
600 N Zee+et, inclusive, Data ]
400 -
200 - —
0 [ 4sig 1 1 1 1 ]
0 1 2 3 4 5 6 7

jet ref

pY /o (160,80],,, Inl<0.8, 0.05<71-A¢<0.08)
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[Entries 440

60F T T T T T T —] o

C Gaussian Tovertiow 0
C 5 ) 3
C % 2Ingor: 1.36 ]
50 mean: (-4.16+1.69)%
o width: (22.51x2.52)%
a0 anti-K _R=0.4 EM+JES =
C Zee+et, inclusive, Data ]
30 -
20F -
10F .] -
0 :.. 1.4sig a 1 1 1 1 ]
0 1 ,e? ot 3 4 5 6 7
py /o] (180,85],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 366

T[T T T T TTRunerion 0

SO0 Gaussian overton o
C % 2Ingof: 0.27 ]
40 - mean: (-5.24x1.45)% _]
B width: (19.39+1.77)% -1
- anti-K _R=0.4 EM+JES 7
30 - Zee+jet, inclusive, Data =
20 -
10 -
0 o 1 1 1 1 N
0 ,6‘2 ot 3 4 5 6 7
py /oy (180,85],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 1059

[Underflow o

[Overflow o

140
120
100
80
60
40
20

Gaussian

% 2/ ngof: 0.23

mean: (-2.52+0.91)%

width: (19.38+1.20)%
amti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

1 2 3 4 5 6
jet  ref

P; /pT ([80,85]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 535

= T T T T T T 0

- Gaussian Joverflow 0
70F % 2/ngot: 0.47 i
= mean: (-6.19+1.36)% 3
60 = width: (19.54%1.75)%
50 E amti-KT R=0.4 EM+JES ]
E Zee+jet, inclusive, Data E
40 =3
30F 3
20 -
10F =
0 E a 1 1 1 1 3
o 1 2.3 4 5 6 7
P; /pT ([80'85]Gev’ In1<0.8, 0.15<n-A¢$<0.17)

Entries 731

- T T T T T T T T Undertion. 0

100[- Gaussian S
L % 2/ngof: 0.85 4
B mean: (-3.64+1.16)% N
80 N width: (21.04+157)% ]
L anti-KT R=0.4 EM+JES i
60— Zee+jet, inclusive, Data -1
401 .
20| -
0 [ 1 1 1 1 :

0 3 4 5 6

% 1 2 3 7 5 3

2
pr /oy (180.,85],,, l<0.8, 0.08<1-Ap<0.10)

Gaussian

Entries

Underflow

Overflow

537

0

[

% 2/ ngof: 0.79

mean: (-1.75+1.11)%

width: (17.77+1.43)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

jet  ref

[ /pT ([80,85]Gev, Inl<0.8, 0.00<r-A$<0.02)

180
160
140
120
100

0 1 2 3 4 5 6

Gaussian

% 2/ngor: 1.16

mean: (-3.07+0.92)%

width: (20.71£1.32)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

pr /oy (180.,85],,,, II<0.8, 0.05<1-A<0.08)

Entries 656

3 T T T T ] o

— Gaussian —Jovertion 0
= x 2/ngos: 1.06 3
E mean: (-6.02+1.51)% E
= width: (20.59+2.50)% =
3 amti-KT R=0.4 EM+JES 3
E Zee+jet, inclusive, Data §
E 1 1 1 1 3
je12 ref 3 4 5 6 7
P; /pT ([80'85]Gev’ Inl<0.8, 0.12<r-A$<0.15)

Entries 1323

S N I e e e i i e [T OV

Overflow 0
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[Entries 1358 Entries 1650 Entries 1935
200E T T T T T T = ° 250 T T T -] ° T T 7 o
E Gaussian E overflow 0 : Gaussian : Overflow 0 Gaussian Joverflow 0
180 % 2/ngor: 0.86 = - % 2/ngor: 1.24 E 250 % 2/ngof: 0.21 i
= mean: (-5.97+0.84)% 3 - mean: (-6.000.80)% ] mean: (-5.36:0.71)% ]
160 = 200 .
3 width: (20.97+1.10)% 3 N width: (19.60+1.07)% ] width: (18.48+1.06)%
140 anti-K_R=0.4 EM+JES - L anti-K_R=0.4 EM+JES 4 200 anti-K_R=0.4 EM+JES =]
120 :_ Zee+jet, inclusive, Data _: 150 __ Zee+jet, inclusive, Data __ Zee+jet, inclusive, Data E
100 3 X ] 150 .
80F 3 100F 3 ]
605 E C ] 100 -
40F = 50 - 50 E
20 = C )]ll ] ]
0 F 1 1 1 1 E 0 C il 4$‘i. 1 1 1 1 7] 0 1.4si a 1 1 1 1 7]
0 1 ot 2 of 3 4 5 6 7 0 1 ot 2 of 3 4 5 6 7 0 1 ot 2 of 3 4 5 6 7
p‘T Ip; (185,110],,, mI<0.8, 0.17<n-A¢<0.20) p’T Ip; (185,110],,, ImI<0.8, 0.15<n-A¢<0.17) p’T Ip; (185,110],,, nI<0.8, 0.12<-A¢<0.15)
[Entries 1042 Entries 234 Entries 4521
160 T nderton 0 F L B L B I B T 700__. M B L B B B s I
Gaussian Joverflow 0 o Gaussian oJOverflow 0 C Gaussian Joverflow 0
140 % 2/ ngof: 0.36 - 300 % 2/ ngof: 0.34 - 600 |- % 2/ ngor: 0.91 3
mean: (-5.29+0.90)% E E mean: (-5.27+0.66)% 3 - mean: (-3.7520.41)%
120 width: (17.85x1.29)% — 250 width: (18.760.98)% = 500 width: (17.30£0.55)% ]
anti-K _R=0.4 EM+JES ] - anti-K _R=0.4 EM+JES E - anti-K _R=0.4 EM+JES E
100 - o . : ]
Zee+jet, inclusive, Data . 200 - Zee+jet, inclusive, Data - 400 — Zee+jet, inclusive, Data =]
80 - s ] F ]
] 150 - 300F 3
60 -] o ] o 3
40 3 100 - 200 3
20 | 3 50F 1 3 100 ] =
o) 1.4si a 1 1 1 1 : 0: 1.4si 1 1 1 1 3 0: 1.4si 1 1 1 1 ]
0 1 ot 2 of 3 4 5 6 7 0 1 ot 2 of 3 4 5 6 7 0 1 ot 2 of 3 4 5 6 7
p'T 1P ([85,110], nl<0.8, 0.10<-A¢<0.12) p’T Iy ([85,110]_, n|<0.8, 0.08<-A¢<0.10) p‘T Iy ([85,110]_, n1<0.8, 0.05<-A¢<0.08)
[Entries 3654 Entries 1908
GO0 T T T T T T T neton. e T T T —rrrrTrrrrgudetion 0
C Gaussian Jovertiow 0 C Gaussian Jovertiow 0
o % 2/ngof: 1.00 ] 300 o % 2/Ngof: 1.66 7
500 mean: (-2.660.45)% o mean: (-2.13+0.65)% ]
r width: (16.85:0.60)% 250 width: (16.12:0.98)% 3
400 anti-K R=0.4 EM+JES - E anti-K _R=0.4 EM+JES 3
o Zee+jet, inclusive, Data ] 200 :_ Zee+jet, inclusive, Data _:
300F = - ]
o E 150 =]
200 3 100F =
100 - 50F -
F ] 3 d.4si ...|....|....|....|....:
% 1 23 T3 57 1 23 5 57

Pl IpY (85,110, Inl<0.8, 0.02<n-A¢<0.05) Pl IpY (185,110, Ini<0.8, 0.00<n-A¢<0.02)
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Entries

120

100

80

60

40

20

T T T T T T
Gaussian

x 2/nges: 1.02

mean: (-6.29+1.12)%

width: (19.931.49)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Data

a 1 1 1 1
1.2, 3 4 5 6 7
pJT /pT ([110,160139\/, In1<0.8, 0.17<r-A$<0.20)

overflow

882

0

0

120

100

80

60

40

20

L BN B e e i i e e
Gaussian

x 2/nges: 0.71

mean: (-5.57+0.98)%

width: (17.25+1.29)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

Entries

inderflow

overflow

1 o 2re' 3 4 5 6
Py /py ([110,160] , Il<0.8, 0.10<r-A¢<0.12)

778

0

0

Entries

500

400

300

200

100

<

Gaussian

inderflow

overfiow

3004

0

0

% 2/ngof: 0.18

mean: (-2.84+0.47)%

width: (15.66+0.69)%
amti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

T2 T3 4 5 3
p’f‘ /p’Te (110,160}, , In|<0.8, 0.02<r-A¢<0.05)

Entries 1122

F T T T T T T E °

160 Gaussian Joverton 0
o x 2/nges: 0.53 3
140 mean: (-5.76+0.88)% =
o width: (17.99+1.30)%
120 anti-K_R=0.4 EM+JES -]
100 :— Zee+iet, inclusive, Data —:
80 -
60 =
40 .
20F 3
O E L L L L 3
0 1 o 2reI 3 4 5 6 7
p’T /p; ([110,160], , |<0.8, 0.15<r-A¢<0.17)

Entries 1760

e T T T T T T T T T nertion. 0

C Gaussian Tovertiow 0
250 x 2/nges: 2.49 -
o mean: (-5.18+0.58)% =
C width: (16.2020.73)%
200 anti-K_R=0.4 EM+JES -
C Zee+jet, inclusive, Data .
150 -
100 3
50F -
0 - 1 1 1 1 n
0 o 2reI 3 4 5 6 7
p’T /p; (1110,160], ,, Inl<0.8, 0.08<r-A¢<0.10)

Entries 1596

R B e B AR n s s, PO

- Gaussian Jovertiow 0
250~ % 2/ngor: 0.09 -
o mean: (-2.79£0.68)%
- width: (16.10=1.03)% -
200 anti-K_R=0.4 EM+JES -
o Zee+jet, inclusive, Data ]
150 -
100 3
50F -
QM1 23 5 57

ref

p’f‘ /p5" ([110,160] , Ini<0.8, 0.00<-A¢<0.02)

220F T T T T T T = 0
E Gaussian Jovertiow o
200 3 % 2/ngor: 017 3
180 mean: (-5.500.72)% =
160 =y width: (17.26+0.97)% -
3 anti-K_ R=0.4 EM+JES E
140 — T -
120 :_ Zee+jet, inclusive, Data _:
100 3
sof- 3
3 3
40F -
20F -
0 E 1 1 1 1 E
o 1 2 3 4 5 6 7
pJT /pT ([110,160138\/, Inl<0.8, 0.12<r-A$<0.15)
F T T T T T T et 0
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Entries 2616
- L e o B [ R e e R ma s e
. Modified Poisson i L 400 Modified Poisson -
250F % 2/nger: 1.18 1 00 3 % 2/ngof: 0.50 E
- mean: (0.32+0.80)% - 350 mean: (0.09+0.65)% =
200 width: (26.25+1.07)% -] E width: (26.67+0.87)% 3
- anti-K _R=0.4 EM+JES b 300 anti-K _R=0.4 EM+JES =
150 - Zee+jet, inclusive, Pythia - 250 :— Zee+jet, inclusive, Pythia —:
C ] 200 ;— —;
100 - 150 -
. ] 100F 3
50 -] 3 E
o 4 50 -
0 C L 1 1 1 . 0 E 1.4sig 1 1 1 1 E
0 ,e? of 3 4 5 6 7 0 1 ,e? of 3 4 5 6 7
p'T /pT ([25,30]Gev, Inl<0.8, 0.08<x-A¢$p<0.10) p'T /pT ([25,30]Gev, Inl<0.8, 0.05<x-A¢$<0.08)
Entries 1442
160_" .........................-,.de,ﬂow 0
o Modified Poisson fQverfiow 0
140 % 2/ngof: 1.57 —
C mean: (0.52+1.03)% ]
120 width: (25.11:1.34)% ]
- anti-K_ R=0.4 EM+JES ]
100~ i -]
o Zee+jet, inclusive, Pythia -
80 —
60 -
40F -
20F -
% 2 3 5 R

jet  ref

pY /ol (125,30, Inl<0.8, 0.00<7-A¢<0.02)

Entries

Underflow

Overflow

151

0

0
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[Entries 2163

- 1 1 ] T 5 0

220F Modified Poisson Forton o
200F % 2/ ngor: 2.06 =
E mean: (-3.44£0.99)% _J
180 3 width: (26.57=1.19)% 3
160 anti-K_R=0.4 EM+JES -
140 :_ Zee+iet, inclusive, Pythia _:
120 -
100F- E
sof 3
60 - -
40f 3
20 -
0 E 1 1 1 1 3
0 ,e? ot 3 4 5 6 7
py o} (130,35],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 1185

120 — T T unerton. 0

N Modified Poisson Joyerto 0

2 .

L % 2/ngof: 1.00 J
100 mean: (-4.12+1.25)%
B width: (25.67+1.76)% 1
8ok anti-K _R=0.4 EM+JES O
: Zee+jet, inclusive, Pythia :
60 -]
40 -
20|~ -
0 o 1 1 1 1 ]
0 ,6‘2 ot 3 4 5 6 7
py /Py (130,35],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 2738

300 —r T I e R

- Modified Poisson overtiow 0
250 [ % 2/ngof: 0.92 ]
C mean: (-2.21+0.85)% .
- width: (26.33+1.19)% 7]
200 — anti-K.r R=0.4 EM+JES =]
E Zee+jet, inclusive, Pythia E
150 =]
100 =
50 -
% N S N

jet

ref

P; /pT ([30,35]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 2230

F T T T T E °

220F Modified Poisson i
200 x 2lngor: 1.34 -
180 = mean: (-3.55:0.90)% _J
E width: (25.88+1.08)% 3
160 anti-K _R=0.4 EM+JES =
140 E_ Zee+jet, inclusive, Pythia _E
120 =
100 =
80F -
60F- ;
40F 3
20 -
) E 1 1 1 1 3
0 £ 3 4 5 6 7
py o} (130,35],, mI<0.8, 0.15<n-A¢<0.17)

Entries 2470

— T T ueton 0

250~ Modified Poisson Joverton 0
: % 2/ngof: 1.57 h
- mean: (-4.56+0.78)% 7
200F width: (25.05:0.93)%
- anti-K _R=0.4 EM+JES 7
150 - Zee+jet, inclusive, Pythia =]
100 -
50 -
0 o A 1 1 1 ]
0 L2y 3 4 5 6 7
py /oy (130,35],, mI<0.8, 0.08<n-A¢<0.10)

Entries 1337

- T T T unerton. 0

ol Modified Poisson TJovertiow 0
140 o % 2/ngof: 0.91 ]
120F mean: (-1.74=1.24)%
o width: (26.57+1.73)% ]
100F anti-K R=0.4 EM+JES =
o Zee+et, inclusive, Pythia ]
80 =]
60 -
a0f =
20 -
% 2 3 5 57

jet  ref

[ /pT ([30,35]Gev, Inl<0.8, 0.00<r-A$<0.02)

240F T T T T 5 0

220 Modified Poisson Fowton o
E x 2/nges: 1.30 K
200 3 mean: (-4.22:0.92)%  J
180 E width: (26.32+1.33)% 3
160 ;— anti-K _R=0.4 EM+JES _;
140 ;_ Zee+iet, inclusive, Pythia _;
120 -
100 ;— —;
3 3
60f- 3
40F -
20F -
0 E 1 1 1 1 E
0 _e? o 3 4 5 6 7
py o} (130,35],, mI<0.8, 0.12<n-A<0.15)

T T T T ueton o

400 Modified Poisson —Jovertiow 0
3 x 2/nges: 2.51 E
350 e mean: (-3.64:0.65)% o
E width: (25.45:0.89)% 3
300 anti-K _R=0.4 EM+JES =
250 ;— Zee+jet, inclusive, Pythia _;
200F =
150F -
100 -
50F 3
0 E 1.4sig 1 1 1 1 E
0 1 2 3 4 5 6 7

jet ref

pY /o7 (130,35, Inl<0.8, 0.05<71-A¢<0.08)
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[Entries 3263
- T T T T T T ] °
300 F Modified Poisson Fowrion o
- % 2/ ngof: 1.45 E
- mean: (-6.24+0.79)% ]
250 width: (28.12+0.91)% 4
o anti-K _R=0.4 EM+JES ]
200 :_ Zee+jet, inclusive, Pythia _:
150 .
100 3
50 -
0 : 1 1 1 1 :
0 1 2 .. 3 4 5 6 7
p'T Ip; ([35,45],, l<0.8, 0.17<-A¢<0.20)
[Entries 2010
T T T et 0
220 3 Modified Poisson o
200 3 % 2/ ngof: 0.40 E
180 F mean: (-5.84:0.83)% -
E width: (25.39+1.04)% 3
160 - anti-K _R=0.4 EM+JES 3
140 -
120 :_ Zee+jet, inclusive, Pythia _:
100 -
80F -
60F- .
40F =
20F -
0 E 1 1 1 1 3
0 1 2 .. 3 4 5 6 7
p'T 17 (35,45, Ml<0.8, 0.10<n-A¢<0.12)
[Entries 4740
e runetion 0
500 - Modified Poisson overfiow 0
n % 2/ngor: 1.83 h
400 - mean: (-5.73+0.60)%  _1
- width: (26.94:0.80)%
C anti-K_R=0.4 EM+JES ]
300 - Zee+jet, inclusive, Pythia =
200 -
100 3
% 1 2 3 T3 57
jet  ref

Py /oy ([35,45],, Ini<0.8, 0.02<r-A¢<0.05)

Entries 3618

F T T T T T T 3 °

350 Modified Poisson ~overton 0
- o ]
o X “Ingor: 1.88 ]
300 mean: (-5.92+0.80)% ]
3 width: (29.201.12)% 3
250 anti-K_R=0.4 EM+JES -]
200 :_ Zee+jet, inclusive, Pythia _:
150 3
100 =
50F =
0 F 1.4sig 1 1 1 1 3
0 1 je12 o 3 4 5 6 7
Py /P, ([3545],,,, MI<0.8, 0.15<-A¢<0.17)

Entries 4114

450 prr—rrrrrr e o o

E Modified Poisson Joverflow 0
400 3 n % 2/ ngof: 0.87 3
350 :— mean: (-5.85x0.61)% —:
= width: (26.03:0.76)% 3
300 anti-K R=0.4 EM+JES -
250 E— Zee+jet, inclusive, Pythia —E
200F =
150 E
100 -
50F- .
0 E 1 1 1 1 3
0 1e|2 o 3 4 5 6 7
py /oy (135,45],, mI<0.8, 0.08<n-A¢<0.10)

Entries 2420

= T undetion 0

250 Modified Poisson Joroton 0
r x 2/nges: 2.10 ]
- mean: (-6.73=0.86)% 7
200 width: (27.311.18)% =
C anti-K _R=0.4 EM+JES h
150 C Zee+jet, inclusive, Pythia ]
100 -
50 -
% 1 23 5 57

jet  ref

Pl /ol (135,45],, Inl<0.8, 0.00<7-A¢<0.02)

Entries 3919

F T T T T T E 0

400 Modified Poisson ~Joverfiow 0
= 2 . 3
F % 2/ngor:1.18 E
350 3 mean: (-5.71:0.64)% 3
= width: (26.43:0.81)% _J
300 = anti-K _R=0.4 EM+JES E
250 ;_ Zee+iet, inclusive, Pythia _;
200 -
150 =
100 r
50 =
0 E 1 1 1 1 E
0 'e12 ref 3 4 5 6 7
p'T Ip ([35,45],,, nl<0.8, 0.12<r-A¢<0.15)

Entries 6645

700 T ueton 0

E Modified Poisson E Qverflow 0
600E x 2/nges: 1.10 =
C mean: (-4.69+0.51)% 3
E width: (26.720.65)% _1
S00F anti-K_R=0.4 EM+JES ]
400 :— Zee+jet, inclusive, Pythia —:
300F =
200 -
100 =
: 1 1 1 1 :
% R S S

2
pr /p’f’ (135,45] ,, 1<0.8, 0.05<1-A¢<0.08)
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[Entries 2979

F T T T T T °

300F Modified Poisson Foweton o
o % 2/ ngof: 0.32 ]
250 - mean: (-5.02+0.73)% 1]
o width: (26.26+0.94)% ]
o anti-K _R=0.4 EM+JES ]
200 =]
C Zee+jet, inclusive, Pythia ]
150 3
100 -
50F 3
0 : 1 1 1 1 :
0 £y 3 4 5 6 7
p'T Ip" ([45,60],,, l<0.8, 0.17<-A¢<0.20)

[Entries 1883

- T et 0

220 ;_ Modified Poisson _; Overfiow 0
200F x 2/nges: 2.21 3
= mean: (-3.97+0.84)% _J
180 E width: (23.85x1.14)% 3
160 anti-K_R=0.4 EM+JES -
140 E_ Zee+jet, inclusive, Pythia _E
120 3
100 -
80F E
60 -
40F -
20F -
0 E 1 1 1 1 3
0 2 .. 3 4 5 6 7
p'T 17 ([45,60],,, Ml<0.8, 0.10<x-A¢<0.12)

[Entries 4792

o T T T enton 0

o Modified Poisson =Joverfiow 0
500 x 2/nges: 1.52 -
o mean: (-3.16+0.60)% ]
o width: (23.80+0.82)%  J
400 anti-K _R=0.4 EM+JES -
300 C Zee+jet, inclusive, Pythia ]
200 3
100 3
% 23 T3 57

jet  ref

Pl /o7 (145,60, Inl<0.8, 0.02<71-A¢<0.05)

Entries

350

300

250

200

150

100
50

T T T T T
Modified Poisson

x 2/nges: 1.20

mean: (-5.05+0.68)%

width: (26.29:0.87)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Pythia

2. 3 4 5 6 7
p'T 17 ([45.,60],,, Ml<0.8, 0.15<1-A¢<0.17)

overflow

3305

0

0

450
400
350
300
250
200
150
100

T T T T T T T T TTTT
Modified Poisson

x 2/nges: 1.50

mean: (-4.49+0.56)%

width: (23.39+0.74)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

.e? o 3 4 5 6
p'T Ip; ([45,60],, I<0.8, 0.08<r-A¢<0.10)

Entries

Underflow

Overflow

3895

0

0

Entries

250

200

150

100

50

<

L B e
Modified Poisson

inderflow

Overflow

2449

0

[

% 2/ngor: 1.10

mean: (-3.58+0.83)%

width: (23.66+1.14)%
amti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

2 3 4 5 5
jet  ref

Pl /ol (145,60, Inl<0.8, 0.00<7-A¢<0.02)

Entries 3615

F T T T T T = o

400 Modified Poisson oweton o
E 5 ) =
E % 2/ngof: 3.13 E
350 = mean: (-4.68+0.63)% I
= width: (25.72+0.82)% 3
300 E anti-K.r R=0.4 EM+JES E
250 :_ Zee+iet, inclusive, Pythia _:
200 3
150 -
100 -
50 3
0 E a 1 1 1 1 E
0 2.3 4 5 6 7
p'T Ip ([45,60],, l<0.8, 0.12<-A¢<0.15)

Entries 6599

34 L LI I B L e )

E Modified Poisson JOverfiow 0
700 % 2/ngof 1.02 =
:_ mean: (-3.69+0.51)% _:
600 = width: (23.91£0.71)% 3
500 = anti-KT R=0.4 EM+JES 3
E Zee+jet, inclusive, Pythia E
400F 3
300F -
200F =
100 -
E 4 1 1 1 3
% T R S S

2
pr /p’f’ (145,60] _,, In}<0.8, 0.05<1-A¢<0.08)
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8 December 13
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[Entries 1953

240 3 T T T T T T E °

220 = Modified Poisson —f[overflow 0
200 % 2/ ngor: 0.44 3
E mean: (-4.49:0.73)% 3
180" width: (22.500.89)% 3
160 anti-K _R=0.4 EM+JES -
140 ;_ Zee+jet, inclusive, Pythia _;
120 -
100F E
E 1 1 1 1 E
2 .. 3 4 5 6 7
py /o] (160,80],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 1367

T T T T T T T o

160 H Modified Poisson orerton o
- 2 . -
o % 2/ngof: 0.46 ]
140 3 mean: (-4.14x1.01)% 4
s width: (22.74+1.33)% 3
120 E anti-K_R=0.4 EM+JES =
100 - Zee+et, inclusive, Pythia =
80F -
60 -
40f- 3
20F -
0 : 1 1 1 1 :
0 2 .. 3 4 5 6 7
py P} (160,80],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 3906

e e e e eton 0

- Modified Poisson Jovertiow 0
500 x 2/nges: 1.37 E
» mean: (-2.66+0.58)% =
400F width: (21.55:0.88)%  —}
o anti-K _R=0.4 EM+JES ]
300 :_ Zee+jet, inclusive, Pythia _:
200 .
100 -
% 1 23 T3 57

jet  ref

P; /pT ([60,80]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 2292

= T T T T T T o

C Modified Poisson Joveriow 0
250 x 2/Ngof: 0.70 -
C mean: (-4.87+0.83)%
o width: (23.76+1.22)%
200 anti-K_R=0.4 EM+JES =]
E Zee+jet, inclusive, Pythia E
150~ -
100 3
50F ‘[|: -
oL 1.4si a 1 1 1 1 7
o 1 23 4 5 6 7
[ /pT ([SO,SO]GeV, Inl<0.8, 0.15<-A$<0.17)

Entries 2915

F LI B I I L M )

350 Modified Poisson e S
3 x 2/nges: 0.61 3
300 mean: (-4.41:0.65)% =]
3 width: (22.26:0.86)% 3
250 :_ antl-KT R=0.4 EM+JES —:
200 :_ Zee+jet, inclusive, Pythia _:
150 =
100 -
50 =
0 E 1 1 1 1 3
0 je|2 ref 3 4 5 6 /
[ /pT ([SO,BO]GeV, In1<0.8, 0.08<r-A¢$<0.10)

Entries 1990

- T T T T T T T T T Undertion. 0

250 Modified Poisson Joroton 0
r % 2/Ngof: 0.85 ]
- mean: (-2.54=0.83)% 7
200 width: (22.35x1.05)% =}
C anti-K _R=0.4 EM+JES ]
150 C Zee+jet, inclusive, Pythia ]
100 -
50 -
% 1 N S

jet  ref

[ /pT ([SO,SO]GBV, Inl<0.8, 0.00<r-A$<0.02)

Entries 2614
F T T T T T T 3 o
300 Modified Poisson =JQyertiow 0
o % 2/ngot: 0.26 b
250 - mean: (-4.59+0.77)% _]]
C width: (23.56+1.08)% ]
- anti-K _R=0.4 EM+JES E
200 -]
- Zee+jet, inclusive, Pythia -
150 :— —:
100 -
50F -
0 : L L L L :
o 1 2. 3 4 5 6 7
py o} (160,80],,, mI<0.8, 0.12<n-A¢<0.15)
Entries 5175
700p T Ll I B s s MU
o Modified Poisson Joertiow 0
600 :_ x 2/nges: 0.92 _:
C mean: (-3.41x0.46)% 7]
il width: (20.46+0.65)% ]
500 = anti-K _R=0.4 EM+JES E
400 :— Zee+iet, inclusive, Pythia —:
300F -
200 -
100 -
0 3 4si a 1 1 1 1 E
0 1 2 "3 4 5 6 1
py b} (160,80],, mI<0.8, 0.05<t-A¢<0.08)
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[Entries 285

- T T T T T T e 0

40F Modified Poisson Fowerow o
35 = % 2/ ngof: 2.62 =
E mean: (-6.67+2.23)% 3
30F width: (19.36x2.45)% =3
3 anti-K _R=0.4 EM+JES E
25 :_ Zee+jet, inclusive, Pythia _:
20F 3
15F =
10F 3
5 =
0 o 1.4s 1 1 1 1 3
0 1 ,e? ot 3 4 5 6 7
py /o] (180,85],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 212

30__.........|.......................-,,de,ﬂo,,, 0

o Modified Poisson 2o
o5 - ZZ/HdOf:1.59 =
- mean: (1.40+2.69)% 7]
- width: (22.05+3.26)% -
20 . E:\nti-KT R=0.4 EM+JES -
E Zee+jet, inclusive, Pythia E
15 =]
10F -
5F .
0 F ot 4sidma 1 1 1 1 g
0 1 ,6‘2 ot 3 4 5 6 7
py /oy (180,85],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 666

r L e B L AR L

100 Modified Poisson Ouerflow 0
- x 2/nges: 1.24 b
[ mean: (-2.12+1.09)%
8ok width: (18.891.47)% =
C anti-K _ R=0.4 EM+JES ]
60 -_ Zee+jet, inclusive, Pythia _-
40 -
20— -

% T2 3T

jet  ref

P; /pT ([80,85]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries

overflow

347

Entries

0 T

0

50

40

30

20

10

T T T T T
Modified Poisson
x 2/nges: 0.86
mean: (-3.14+1.68)%

width: (20.01+2.31)%
anti-K R=0.4 EM+JES

Zee+jet, inclusive, Pythia

a 1 1 1 1

I['1 4si
1

oO

- T T T T T T E
45F Modified Poisson =
40F % 2/ngor: 0.87 3

E mean: (-5.72+1.60)% o
35F width: (20.24x1.86)% =3
30 3 anti-K _R=0.4 EM+JES 3
o5 E Zee+iet, inclusive, Pythia §
20F 3
15E 3
10 -

33 3
0 E 1 4§| 1 1 1 1 E
0 1 ie? o 3 4 5 6 7
Py /oy (180,85],,, MI<0.8, 0.15<n-A¢<0.17)

FrrT T T — T L RARAS RAREC
60 Modified Poisson -]

- % 2/ngop: 1.12 ]
50 mean: (-0.66=1.76)% ]

o width: (23.62+2.54)%

- anti-K _R=0.4 EM+JES ]
40 —

E Zee+jet, inclusive, Pythia E
30 -
20 -
10 3

0 3 -[‘,1 4sidma 1 1 1 1 E
1 -

50

40

30

20

10

3 4 5 6

2
pr /oy (180.,85],,, l<0.8, 0.08<1-Ap<0.10)

Entries

Underflow

Overflow

483

2. 3 4 5 6
py /o] (180,85],,, MI<0.8, 0.12<n-A¢<0.15

=~

Overflow

398

0

0

° 120

0

100

80

60

40

20

L BN w i i e e
Modified Poisson
x 2/nge: 0.50
mean: (-2.85+1.07)%

width: (20.09+1.50)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

a 1 1 1 1

1.4sit
1

C‘O

Modified Poisson

Entries

Underflow

Overflow

337

0

[

% 2/ ngof: 1.09

mean: (0.15+1.90)%

width: (20.57+2.65)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Pythia

2 3 4 5 5
jet  ref

[ /pT ([80,85]Gev, Inl<0.8, 0.00<r-A$<0.02)

2 . 3 45 6
py b} (180,85],, mI<0.8, 0.05<n-A¢<0.08)

Entries

Underflow

Overflow

880

0

0
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[Entries 830

120F T T T T T T 0

C Modified Poisson Jovertiow 0
- 2 . -
[ % 2/ ngof: 1.51 ]
100 N mean: (-3.52+1.28)%
C width: (22.71:1.78)% ]
80 ~ anti-KT R=0.4 EM+JES -
C Zee+jet, inclusive, Pythia ]
60 =
a0 -
20 .
0 o 1 1 1 1 N
0 1 ot 2ref 3 4 5 6 7
Py /p; (185,110], Ml<0.8, 0.17<r-A¢<0.20)

[Entries 722

100 L I B e nderfiow 0

[ Modified Poisson Jovertow 0
L x 2/nge: 0.60 4
80 mean: (-2.17+1.55)% =]
[ width: (23.482.59)% |
B anti-K_R=0.4 EM+JES ]
60— o ) . 1
L Zee+jet, inclusive, Pythia -
40 -
20— =
0 [ L L L L ]
0 1 ot 2ref 3 4 5 6 7
p‘T I ([85,110]_, In1<0.8, 0.10<-A¢<0.12)

[Entries 2241

400__. LI B BLRLIL AL B B B LU

E Modified Poisson E Overtlow 0
350 % 2/ ngor: 2.09 -
E mean: (-1.62:0.54)% 3
300 width: (15.40:0.79)% =3
F anti-K_ R=0.4 EM+JES 3
250 T =
C Zee+jet, inclusive, Pythia 3
200F —Z
150 —Z
100 =
50F =
% 1 23 5 5

Py Py (185,110],,, Ini<08, 0.02<-4<0.05)

Entries 1049

160F T T T T T T ] 0

o Modified Poisson Joverflow o
140 % 21ngor: 1.90 -
o mean: (-3.89+0.89)% E
120 width: (18.69=1.15)% =
- anti-K.r R=0.4 EM+JES E
100 :_ Zee+jet, inclusive, Pythia _:
80 =
60 =
40 -
20 -
0 3 1 1 1 1 E
o 1 2 3 4 5 6 7
pJT /pT ([85,110]69\/, Inl<0.8, 0.15<-A$<0.17)

Entries 1587

240 [ T T T T T T T et 0

220 Modified Poisson _Jovertiow 0
5_ % 2/ ngor: 1.29 _5
200 E mean: (-1.41+0.80)% E
180 width: (20.191.16)% =3
160 anti-KT R=0.4 EM+JES 3
140 ;— Zee+jet, inclusive, Pythia _;
120F -
100 -
E 1 1 1 1 E
ot 2ref 3 4 5 6 7
pJT /pT ([85’110]Gev’ In1<0.8, 0.08<r-A¢$<0.10)

Entries 1137

%4 L I B I B e e T

180 Modified Poisson Joverflow 0
= > ) =
o X “/ngof: 1.47 3
160 3 mean: (-2.58+0.74)% 7
140 width: (15.1621.02)% 3
= anti-K_ R=0.4 EM+JES 3
o T 3]
120 o Zee+jet, inclusive, Pythia 3
100 -
80F 3
60F 3
40F 3
20F 3
% T 23 e

p’:‘ /p’Tef (185,110]_,, mI<0.8, 0.00<-A¢<0.02)
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140 width: (26.88+1.40)%
120 E_ anti-K _R=0.4 EM+JES _E
100 :_ Zee+jet, inclusive, Data _:
80F -
60 -
40 -
20F -
o) F iq 1 A 1 1 3
0 1 2 .. 3 4 5 6 7
p'T I (25,30, Ml<0.8, 0.10<n-A¢<0.12)

[Entries aa

o T T T T o o

400F Modified Poisson i
- 2 . -
= x “/ngos: 1.70 =
350 = mean: (-2.55+0.67)% ]
300 = width: (28.04:0.89)% _J
3 anti-K _R=0.4 EM+JES 3
250 3 Zee+et, inclusive, Data =
200F i -
150 =
100 =
50 =
F.J d.4sigm 1 AT P TP
1 2 3 4 5 6 7

jet  ref

Pl /ol (125,30, Inl<0.8, 0.02<71-A¢<0.05)

Entries 3453

- T T T T T T ] o

3 Modified Poisson Joveriow 0
300 3 % 2/ngor: 0.58 =
o mean: (-2.94=0.70)% 7
250 width: (27.35:0.88)%
o anti-K _R=0.4 EM+JES E
200 :_ Zee+jet, inclusive, Data _:
150 ‘ 3
100 3
50 3
) F 1.4siam 1 1 1 1 E
0 1 2 .. 3 4 5 6 7
p'T 1P (25,30, Ml<0.8, 0.15<n-A¢<0.17)

Entries 3810

= 7 et o

350 Modified Poisson overtow 0
3 x 2/nges: 1.47 3
300F mean: (-1.05+0.70)%
F width: (27.72x0.90)% 3
o50E- anti-K _R=0.4 EM+JES =
200 E Zee+jet, inclusive, Data E
150 3
100 -
50F —Z
O E 1 o | L 1 E
0 2 .. 3 4 5 6 7
p'T Ip; ([25,30],,, l<0.8, 0.08<r-A¢<0.10)

Entries 1981

200 7 T T e o

E Modified Poisson Jovertiow 0
180 3 x 2/nges: 1.28 =
160 - mean: (-3.030.91)% —
= width: (27.26:1.20)%
140 3 anti-K _R=0.4 EM+JES i
120 :_ Zee+jet, inclusive, Data _:
100 —Z
80F =
60 -
a0f 3
20F =
% 1 2 o3 5 5

jet

pY /ol (125,30, Inl<0.8, 0.00<7-A¢<0.02)

ref

Entries 3642

- T T T T T T ] o

350 :_ Modified Poisson _: Overflow [)
o B ) 3
o % 2/ngof: 0.85 3
300 3 mean: (-2.25:0.67)% 1
F width: (27.09+0.85)% 3
250 anti-K _R=0.4 EM+JES -
200 :_ Zee+jet, inclusive, Data _:
150 3
100 3
50F =
0 F 1.4sigm PR | | 1 1 3
0 1 iel2 o 3 4 5 6 7
Py /oy (125,30],,, MI<0.8, 0.12<r-A¢<0.15)

Entries 6087

- T — — T T ueton. o

600 - Modified Poisson Oyertiow 0
E x 2/nges: 3.35 E
500 mean: (-1.40+0.58)% =
o width: (28.59+0.77)%
400 C anti-KT R=0.4 EM+JES ]
E Zee+jet, inclusive, Data E
300 -
200 =
100 -
0 F 1.4siam 1 1 1 1 E
0 1 3 4 5 6 7

2
pr /p’f’ (125,30] ,, m}<0.8, 0.05<1-A¢<0.08)

Sunday, 8 December 13

53



[Entries 2970

- T ] T T ] 0

C Modified Poisson Jovertiow 0
250 % 2Ingos: 1.77 -
C mean: (-5.96+0.86)% ]
C width: (27.631.13)% ]
200 anti-K_R=0.4 EM+JES -
E Zee+jet, inclusive, Data E
150 =]
100 =
50F -
0 : -l L 1 1 :
0 ,e? o 3 4 5 6 7
py o} (130,35],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 1740

Fr— T T T T uerton. o

180 3 Modified Poisson i L
160 - % 2/ ngor: 1.29 =
3 mean: (-6.35+0.95)% 3
140 width: (25.10+1.18)% =
: anti-K_ R=0.4 EM+JES E
120 N -]
= Zee+iet, inclusive, Data 3
100 k =]
80F 3
60F —Z
40F =
20F —Z
o) E iq 1 1 1 1 3
0 ,e? o 3 4 5 6 7
py /Py (130,35],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 3799

MMM B U AR R RS R

400 Modified Poisson Joertor 0
= 2 . 3
- X /ngos: 1.07 ]
350 3 mean: (-5.28=0.62)% 3
= width: (24.96+0.76)% _J
300 3 anti-K_R=0.4 EM+JES E
250 ;_ Zee+jet, inclusive, Data _;
200 =
150 =
100 =
50 =
% 1 2 3 T3 5

jet  ref

P; /pT ([30,35]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 3153

C T T T T T ] o

300 Modified Poisson Toeron 0
E % 2/ngof: 0.99 E
250 mean: (-5.89+0.78)% =
- width: (26.98x1.02)% o
200 - anti-KT R=0.4 EM+JES -
E Zee+jet, inclusive, Data E
150 -
100 -
50F -
0 F A1 L 1 1 E
0 2. 3 4 5 6 7
P; /pT ([30'35]Gev’ Inl<0.8, 0.15<-A$<0.17)

Entries 3487

- T T T T T T T T T T undertion. 0

350 E_ Modified Poisson _E prerton 0
E % 2/ngof: 1.92 ]
300 :_ mean: (-5.60+0.67)% _:
- width: (25.09+0.81)% -5
250 3 anti-K_R=0.4 EM+JES =
200 E Zee+jet, inclusive, Data E
150F -
100 -
50 3
0 E 1 1 1 1 E

0 ie‘2 w3 4 5 6

P /pT ([30’35]Gev’ In1<0.8, 0.08<r-A¢$<0.10)

Entries 1961

220 = B e B B o TRV

200 Modified Poisson Jourton
E % 2/ngor: 0.33 E
180 3 mean: (-4.78+0.85)% o
160 width: (23.99x1.14)% —3
140 :_ anti-KT R=0.4 EM+JES _:
120 :_ Zee+jet, inclusive, Data _:
100 -
80k -
60F- .
40F =
20 -
% Y S

jet  ref

[ /pT ([30,35]Gev, Inl<0.8, 0.00<r-A$<0.02)

Entries

Overflow

3338

0

0

350 - T T T T T T —
3 Modified Poisson 3
300 % 2Ingor: 1.61 3
E mean: (-5.83+0.70)% E

- width: (25.52+0.87)%  _7

250 - anti-K_R=0.4 EM+JES E
200 Zee+et, inclusive, Data -
150 3
100 -
50 -
0 F L L L L 3

0 1 _e? o 3 4 5 6 7

py o} (130,35],, mI<0.8, 0.12<n-A<0.15)

600 -—l L LN DL BN LR LN LR BN L R =
o Modified Poisson 7

- x 2/nges: 4.00 4

500 o mean: (-5.22+0.55)%
o width: (25.41+0.67)%
400F anti-K _R=0.4 EM+JES -
E Zee+jet, inclusive, Data E
300~ -
200 =
100 -
0: 1.4siq 1 L 1 1 ]

0 1 2 3 4 5 6 7

jet ref

pY /o7 (130,35, Inl<0.8, 0.05<71-A¢<0.08)

Entries

Underflow

Overflow

5402

0

0
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[Entries 4494

=) T T T T T T = o

450 3 Modified Poisson Forerton o
400F x 2/ ngor: 1.90 3
E mean: (-6.12:0.65)%  J
350 E width: (29.690.79)% 3
300 ;_ anti-K _R=0.4 EM+JES _;
= Zee+jet, inclusive, Data =
250 F K 3
200 ;— —;
150 3
100 ;— —;
50E- 3
0 E 1.4sig 1 1 1 1 3
0 1 ,e? o 3 4 5 6 7
p'T Ip; ([35,45],, l<0.8, 0.17<-A¢<0.20)

[Entries 2695

r T uenon o

C Modified Poisson Jovertow 0
250 % 2/ngor: 1.39 -
C mean: (-5.98+0.86)% ]
- width: (27.65=1.19)% ]
200 anti-K _R=0.4 EM+JES E
C Zee+jet, inclusive, Data ]
150 Y -
100 -
50 .
o) C 1 1 1 1 .
0 ,e? o 3 4 5 6 7
p'T 17 (35,45, Ml<0.8, 0.10<n-A¢<0.12)

[Entries 6342

700 LI B e B L R R

3 Modified Poisson P
600 % 2/ngor: 0.55 —
C mean: (-5.89+0.54)% ]
500F width: (27.22+0.73)% ]
: anti-K _R=0.4 EM+JES 3
400 :_ Zee+jet, inclusive, Data —:
300 .
200 .
100F -
% 1 2 3 T3 5

jet  ref

Py /oy ([35,45],, Ini<0.8, 0.02<r-A¢<0.05)

Entries 4830

= T T T T = 0

450 Modified Poisson b S
E 2, . E
= % 2Ingo: 1.74 3
400 3 mean: (-7.17£0.74)%  J
350F width: (30.37x1.12)% =3
300 3 anti-K _R=0.4 EM+JES E
250 E Zee+jet, inclusive, Data §
200 -
150 ;— —;
100 =
50 -
0 E L 1 1 1 E
0 2 .. 3 4 5 6 7
p'T I (35,45, l<0.8, 0.15<n-A¢<0.17)

Entries 5647

- et 0

600 - Modified Poisson S
- % 2Ingor: 1.48 E
500 mean: (-6.06=0.59)% =7
- width: (27.680.81)% 7
400k anti-K _R=0.4 EM+JES ]
E Zee+jet, inclusive, Data E
300 -
200 =
100 -
0 : 1 1 L 1 :
0 2 .. 3 4 5 6 7
p'T Ip ([35,45],, l<0.8, 0.08<r-A¢<0.10)

Entries 3220

350 T underion. 0

E Modified Poisson Jorotow 0
300F- x 2/nge: 0.64 =
= mean: (-7.41:0.75)%
E width: (25.23x1.01)% 3
250 F amti-KT R=0.4 EM+JES ]
200 :— Zee+jet, inclusive, Data —:
150 3
100 -
50 -
% 2 3 5 5

jet  ref

Pl /ol (135,45],, Inl<0.8, 0.00<7-A¢<0.02)

Entries 5198
o T T T T . 0
500 Modified Poisson b S
- x 2/nges: 0.73 4
C mean: (-6.23+0.65)%
4001 width: (28.890.94)% ]
- anti-K_R=0.4 EM+JES -
300 C_ Zee+jet, inclusive, Data 3
200 3
100 3
0 u 1 1 1 1 N
0 je12 ref 3 4 5 6 7
P; /pT ([35'45]Gev’ In1<0.8, 0.12<n-A¢<0.15)
Entries 9110
1000 LI L L N B LR Underflow 0
[ Modified Poisson i S
L % 2/ Ngof: 2.06 ]
800 mean: (-5.80£0.47)% =
B width: (28.09+0.64)% b
[ anti-K _R=0.4 EM+JES ]
600 ._ Zee+jet, inclusive, Data __
400 -]
200 -
0 [ 1.4sig 1 1 1 1 ]
0 2 3 4 5 6 7

jet ref

pl /ol (135,45],, Inl<0.8, 0.05<71-A¢<0.08)
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[Entries 4086

- T T T T T T = 0

400 Modified Poisson overtion 0
= o E
E % 2/ngor:1.23 E
350 mean: (-6.5620.64)% 3
= width: (26.73+0.86)% _J
300 - amti-KT R=0.4 EM+JES E
250 ;_ Zee+jet, inclusive, Data _;
200 -
150 =
100 =
50 -
0 E 1.4sig A1 1 1 1 E
0 1 £y 3 4 5 6 7
p'T Ip" ([45,60],,, l<0.8, 0.17<-A¢<0.20)

[Entries 2624

300F S REARS RS RS ALY I

o Modified Poisson 2o

2 .

- % 2/ngof: 0.90 E
250 o mean: (-5.59=0.76)% 7
- width: (26.22:0.99)%
200 anti-K _R=0.4 EM+JES ]
E Zee+jet, inclusive, Data E
150~ -
100 =
50 -
0 : 1 1 1 1 :
0 L 3 4 5 6 7
p'T 17 ([45,60],,, Ml<0.8, 0.10<x-A¢<0.12)

[Entries 6881

F1010] el S T T T T T T T T R undertiow 0

3 Modified Poisson Jovertiow 0
700 % 2/ ngof: 2.36 -
E mean: (-5.12+0.49)% 3
600 width: (23.96:0.69)%
500 F anti-K_R=0.4 EM+JES 3
E Zee+jet, inclusive, Data E
400F -
300F =
200F -
100 =
% 1 2 3 T3 5

jet  ref

Pl /o7 (145,60, Inl<0.8, 0.02<71-A¢<0.05)

Entries 4496

E T T T T T T E 0

450 Modified Poisson Foverion o0
= 2 . =
= % 2/ngor: 0.63 3
400 E mean: (-6.59+0.60)%  J
350 width: (26.470.78)% =3
3 anti-K_R=0.4 EM+JES 3
300 =
250 E Zee+jet, inclusive, Data E
200 =
150 ;— —;
100 ;— —;
50 :—)]] -
0 E 1.4sig L 1 1 1 E
0 1 ,e? o 3 4 5 6 7
p'T 17 ([45.,60],,, Ml<0.8, 0.15<1-A¢<0.17)

Entries 5559

e e e T eton. o

600 :— Modified Poisson —: Ouerflow 0
o x 2/nges: 1.62 ]
ol mean: (-5.60+0.49)% 1
500 3 width: (25.120.62)% ]
- anti-K_R=0.4 EM+JES E
400 -
L Zee+jet, inclusive, Data -
300 :— —:
200 3
100 -
0 : 1 1 1 L :
0 ,e? o 3 4 5 6 7
p'T Ip; ([45,60],, I<0.8, 0.08<r-A¢<0.10)

Entries 3488

SR B ey T ueton o

400 2 Modified Poisson Joertow 0
350 E x 2/nges: 0.57 E
C mean: (-4.85x0.65)%  J
300F width: (23.27:0.89)% 3
E anti-K_R=0.4 EM+JES E
250 :_ Zee+jet, inclusive, Data _:
200F -
150 -
100 =
50F =
% 1 2 3 5 57

jet

ref

Pl /ol (145,60, Inl<0.8, 0.00<7-A¢<0.02)

Entries 4986

[ T T T T -] 3

C Modified Poisson Joverfiow 0
500 % 2/ ngof: 0.78 -
- mean: (-6.30+0.55)% 7
- width: (26.10:0.71)%  _]
400 anti-K _R=0.4 EM+JES E
C Zee+jet, inclusive, Data ]
300 =]
200 3
100 3
0 C 1 1 1 1 7]
0 2w 3 4 5 8 7
[ /pT ([45'60]Gev’ Inl<0.8, 0.12<r-A$<0.15)

Entries 9489

T T T T T T Junderion. 0

1000~ Modified Poisson —fQverflow 0
B x 2/nges: 1.77 b
- mean: (-5.33+0.42)%
800 width: (24.05:0.61)% =
: anti-KT R=0.4 EM+JES :
600 -_ Zee+jet, inclusive, Data _-
400~ -1
200 -
[ 1 1 1 1 i
% N R S S

2
pr /p’f’ (145,60] _,, In}<0.8, 0.05<1-A¢<0.08)
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[Entries 2803

F T T T T T 3 °

o Modified Poisson Joverfiow 0
300 x 2/nges: 0.46 =3
E mean: (-4.53+0.71)% E
250 width: (22.81-0.96)% =]
- anti-K _R=0.4 EM+JES E
200 Zee+jet, inclusive, Data =
150 - -
100 -
50 3
0 : 1 1 1 1 :
0 2 .. 3 4 5 6 7
py /o] (160,80],, mI<0.8, 0.17<n-A¢<0.20)

[Entries 2110

- T T T T o o

250~ Modified Poisson b S
L x 2/nges: 1.33 ]
C mean: (-4.49=0.77)% 4
200~ width: (22.02:1.04)% =]
L anti-K _R=0.4 EM+JES h
150 - Zee+jet, inclusive, Data -
100 v
50 -
0 C 1 1 1 1 7
0 2 .. 3 4 5 6 7
py P} (160,80],,, mI<0.8, 0.10<n-A¢<0.12)

[Entries 5641

% e B A S S A

: Modified Poisson Jovertiow 0
700 :_ x 2/nges: 1.03 _:
= mean: (-2.56+0.42)% 3
600 width: (19.92+0.59)% o
: anti-K_ R=0.4 EM+JES E
500 i =
E Zee+et, inclusive, Data E
400 -
300 =
200F =
100 3
% 23 T3 5

jet  ref

P; /pT ([60,80]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries 3176

) T T T T T = o

400 E_ Mzdified Poisson _E overtion 0
F % 2/ngof: 1.52 E
350 mean: (-4.69+0.56)% =
E width: (20.60+0.71)% 3
300 anti-K_R=0.4 EM+JES =
250 E— Zee+iet, inclusive, Data —E
200 -
150 -
100 -
50 -
O E 1 1 1 1 3
0 2 .. 3 4 5 6 7
py o} (160,80],, mI<0.8, 0.15<n-A¢<0.17)

Entries 4330

— et 0

o Modified Poisson Jovertiow 0
500 % 2/ngor: 2.38 .
o mean: (-3.87+0.51)% 1}
- width: (20.380.73)% _7]
400 anti-K _R=0.4 EM+JES E
300 :_ Zee+jet, inclusive, Data _:
200 - -
100 -
0 C 1 1 1 1 .
0 2 .. 3 4 5 6 7
py /oy (160,80],, mI<0.8, 0.08<n-A¢<0.10)

Entries 2929

400 T T T T underion. 0

3 Modified Poisson Jovortow o
350 % 2/ ngor: 1.64 E
= mean: (-2.62+0.61)% 3
300 3 width: (20.29x0.88)% 3
250 = anti-K _R=0.4 EM+JES E
E Zee+jet, inclusive, Data E
200F =
150 —Z
100F -
50 -
% 2 3 5 5

jet  ref

[ /pT ([SO,SO]GBV, Inl<0.8, 0.00<r-A$<0.02)

Entries

500

400

300

200

100

LB LRI BLELELELE BLNLELELE BLBLELILE |

T T T T
Modified Poisson
x 2/nger: 2.28
mean: (-4.40+0.54)%

width: (21.210.72)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Data

2. 3 4 5 6 7
py o} (160,80],,, mI<0.8, 0.12<n-A¢<0.15)

Overflow

3783

0

0

1000

800

600

400

200

T T T T T T TTTY
Modified Poisson
x 2/nges: 2.75
mean: (-2.53+0.39)%

width: (20.64+0.57)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

2 . 3 45 6 7
py b} (160,80],, mI<0.8, 0.05<t-A¢<0.08)

Entries

Underflow

Overflow

7483

0

0
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Entries

60

50

40

30

20

10

T T T T T T
Modified Poisson

x 2/nges: 1.92

mean: (-3.97+1.32)%

width: (19.91+1.46)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Data

1 4Si'IC'|ll'ﬂa- 1 1 1 1

OO
p

1 2. 3 4 5 6
py /o] (180,85],,, MI<0.8, 0.17<n-A¢<0.20

=~

overflow

440

0

0

50

40

30

20

10

140
120
100
80
60
40
20

T T T T T TTTY
Modified Poisson
x 2/nges: 0.20
mean: (-3.51x1.46)%

width: (18.23+1.85)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

Entries

inderflow

overflow

3 4 5 6

2
pr oy (180.,85],,, Il<0.8, 0.10<n-Ap<0.12)

366

0

0

Entries

underflow

overfiow

1059

0

0

% 2/ ngof: 0.29

mean: (-1.31£0.92)%

width: (19.37+1.20)%
amti-KT R=0.4 EM+JES

n Modified Poisson

Zee+jet, inclusive, Data

1 2 3 4 5 6
jet  ref

P; /pT ([80,85]Gev, Inl<0.8, 0.02<r-A$<0.05)

Entries

overflow

535

0

0

3 T T T T T T E
- Modified Poisson ]
0F % 2/ ngof: 0.54 i
= mean: (-4.76+1.46)% 3
60 width: (20.43:2.11)% 3
50 :_ amtl-KT R=0.4 EM+JES _:
= Zee+jet, inclusive, Data 3
40 =3
30F 3
20 -
10F =
0 E a 1 1 1 1 3
0 ,e? ot 3 4 5 6 7
py o} (180,85],,, mI<0.8, 0.15<n-A¢<0.17)

— —r L B w e e e
100 N Modified Poisson ]
L % 2/ngof: 0.90 4

B mean: (-1.71£1.18)% N

80 N width: (19.83+1.71)% ]
- anti-KT R=0.4 EM+JES i
60— Zee+jet, inclusive, Data -1
40F -
20 -1
0 1 2 3 4 5 6 7

pr /oy (180.,85],,, l<0.8, 0.08<1-Ap<0.10)

Entries

Underflow

Overflow

731

0

0

Modified Poisson

Entries

Underflow

Overflow

537

0

[

% 2/ngof: 0.48

mean: (-0.05+1.09)%

width: (16.24+1.41)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Data

2 3 4 5 5
jet  ref

[ /pT ([80,85]Gev, Inl<0.8, 0.00<r-A$<0.02)

180
160
140
120
100

Entries

T T T T
Modified Poisson
% 2ngot: 1.14
mean: (-4.34+1.54)%

width: (20.68x2.51)%
anti-K_R=0.4 EM+JES

Zee+jet, inclusive, Data

2. 3 4 5 6
py /o] (180,85],,, MI<0.8, 0.12<n-A¢<0.15

=~

Overflow

656

0

0

L B i i o e e e
Modified Poisson

x 2/nges: 1.03

mean: (-1.60+0.93)%

width: (20.61=1.30)%
anti-KT R=0.4 EM+JES

Zee+jet, inclusive, Data

0 1 2 3 4 5 6

pr /oy (180.,85],,,, II<0.8, 0.05<1-A<0.08)

Entries

Underflow

Overflow

1323

0

0
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[Entries 1358 Entries 1650 Entries 1935
200E T T T T T T = ° 250 T T -] ° T T o
E Modified Poisson E Overflow 0 n Modified Poisson TJoyertiow 0 Modified Poisson Jovertiow 0
180 % 2/ngor: 0.89 = - % 2/ngot: 1.05 E 250 % 2/ngor: 0.33 i
160 = mean: (-4.53+0.86)% _3 200 - mean: (-4.32+0.74)% -] mean: (-3.86+0.65)%
3 width: (21.00=1.10)% 3 N width: (19.21x0.99)% width: (18.96+0.88)%
140 anti-K_R=0.4 EM+JES - L anti-K_R=0.4 EM+JES 4 200 anti-K_R=0.4 EM+JES =]
120 :_ Zee+jet, inclusive, Data _: 150 __ Zee+jet, inclusive, Data __ Zee+jet, inclusive, Data E
E E B b 150 -]
100 - L 4 4
80F 3 100 3 ]
605 E C ] 100 -
40F = 50 - 50 E
20 = C }['l ] ]
0 F 1 1 1 1 E 0 C il 4$‘i. 1 1 1 1 7] 0 1.4si a 1 1 1 1 7]
0 1 ot 2 of 3 4 5 6 7 0 1 o 2 of 3 4 5 6 7 0 1 o 2 of 3 4 5 6 7
p‘T Ip; (185,110],,, mI<0.8, 0.17<n-A¢<0.20) p’T Ip; (185,110],,, ImI<0.8, 0.15<n-A¢<0.17) p’T Ip; (185,110],,, nI<0.8, 0.12<-A¢<0.15)
[Entries 1042 Entries 234 Entries 4521
160 T nderton 0 F UL B B B B B TR 700 L B B B B
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